DEGSON REUTUSERHIER , FNE RERINANE, ﬁ

DEGSOM mm connacior manuaciurer it oifsrs tuslomized sollions t cuskrmens. p EG so” ® E m E E ﬁ

EHERE

¥ ted I ARLT ¥ hbhddA ] ¥ hed I ARLA

LR TE TRl L T e P S A e L e e

¥k hod I Ak ¥k L d I AR

e e vl

Fo hhd AR
DEGSON ELECTRONICS CO.,LTD.

Add: Mo, 1585, Xiaaolin Road. Cli Ningbo Chena Tal: +86-574-63504333

G 18-CEDZ

PG 315321 Fa +88-574-8351245 i i ﬂ. ﬁ # t 3- ﬁ f&- "’I ‘ﬂ
WGBS, CONT E-magil: saled@degson.com Y DEGSON ELECTRONICS CO.,LTD.
T cwinl g i only o reference, and fhe delsl dets

must ho basad om sur sompany s spasicalion’ IS03001 IS014001 ISOB00TS-34 LATF 16949 B58 9, & 4 & C€ 1M &= NeHS AEACH



ﬂm, ﬁnsssm“

N\ = THeRANBEREUL SEVDEATHNIXRES
a E‘ ﬁ:ﬁ. First Lab. authorized by UL&VDE in Asia
DEGSONRHETHRLTNET1000F , B—FERGA Rl , BITMB-RamTR

Tove T S SR — , BTSSR ER S LEULTESEVOEL TS e e
b, PR T . & 4% Ce B a2 s in LU 2VEHEE TIS00001, 1S014001, 1S080079-34,
ISONTS22163F0IATF 1694 D TEEIAIE.

DEGSONM#LF RS- E. ME. =E. R, BT, =, GEW, DE, THE,
B, ®E. BX SE. P 100 ST ERE | hRRT e, (ERIGE. B, B
RS, UEFCE. SRR, R, 8. 2. =, ST . BOdERATRERS,

DEGSONBHESREU T RENHERE , EHE0 LSEU TENSO , 29 §3 : 3
DEGSONEHALIFSSTHENE. BHESRT. FHEAR. SRGHmEEOrss | ETas R D ULRSH RS R AN EERGRE SO . R LN N

UL. VDER A5 Visiting UL,VDE

H‘. ﬁL 'E 2 e Lr:lgimir:l:ﬂr;:nn;gn af UL giobal enargy &fechnology division @iﬂ:gﬁﬁarﬁiﬁfaﬁ:gwm waloomo
Brief Introduction D BT NDEATRRE B

ULICRS L AT | 2 3R A ULTELFDECSONETE
UL WTDP .

SEEAE | LLEES T COTPIEHRLLETUER,
HMGEE1ZE | VDEME TTDAPICI R SEH,
HATEIR | IRISEER

@ VDE Laberatory Accraditalion: In July 2010, VDE
lssuad the *VDE Authorized Laboratony®
Cartficale fo DEGSON 5 laboraiony
UL Latoradory Adccradilation: UL fomaly issued
UL WTDE coriicaion o DEGSON In Manh 2X0H3

On Apri, 2016, UL-CTDR.
DEGSON products are vaery popular in China, Garmany, UK, Italy, Spain,Poland,Russia, On Decamber, 2018, VOE-TDARP

Indla, Turkey,Brazil, USA,Japan,Korea,South Africa,etc.totally more than 100 countries Qi JJnalary, 2097, ook INED sywhem S,
and areas, DEGSON provides excellent products and service for the customers all over
the world, especially in Industrial Automation, Instrument, Elevator, Electric Fower, % i by : -
Rall Transport, New Energy, Lighting, Telecommunication, Power Supply, Security, —— - e et
Ship-building and so on, el ™ e || EHAT 0 '

Founded in 1980, DEGSON Electronics Co., Lid. Is one of the largest manufacturers
of tarminal blecks and industrial electrical connection products in Asia As a high-tech
enterprise, DEGSONowns the firstUL and VDE authorized laboratory in Asia.DEGSON
products have been approved by Sah & 4 & CC & Rohs REMNH. The company has beean granted
1308001, 13014001, 1S0O80079-34, ISO/TS522163 and IATF 15949 management system
cartificates.

DEGSO0ONMN fulfills the sales network all over the world and seis up marketing centers in

RIS E o 'h-r'hll-:--'—-\. 1=

Germany and Shanghai, China. Pragmatic, Sincerity, Responsibility, Innowation, = (=] |
Harmonious Developmant, Rule and Win-win. In accordance with these spirits of -.I : Eﬁg-— : e
enterprise for 29 years, DEGSON will keep providing more speedy, comprehensive O~ ; ® oAt it o
and professional local service to our customers e _m;mm P ——— PrEEE——— T
. UL - CTER WDE - TIWF EX certificats
i tineyase FI E!Im_!i = i & i TR TR LR P

iy
= ':'.f i o allin -.. cE e - ﬂ
L ST SR Tes voE T ookl T B E&C GEdt cE EH W RER T

LA, e ROCESIRTE 430 Aere U VOF cervicaba b 1000 e TUY exriificats EAL cartdizmin CE rarificsds Chinass rracinn peiss




DEGSON

« EEEIE  IEPEETTEIPSA,

= TWEWEES, BE. B8, LETEEE.

* R PSR CERR | M,

o RN  BHTRNEEEe.

» RSN, AT AR Eehl AR,
» B FREESNEEE.

= HahERRER R .

Advantages

u Giond sealisg pafomeanes,with IP class up e 1P 8.

# Lisad in e signal tracsmiasion, fala trassamaaion,
POl Supply o

& Wil difensnd cocing Draveint amor Sonnaciion.

& Elield ls opliorm’, provide rallable sbestosmagnalic
profaction.

& Wire connaction mathad & cplional suitakls for
SO NUIDAS Shack and vibrmlion srviormenl.

# Connecion iechnology is sufable In- all spplicaton find.

s Compatble with ama sefes conrecions on the marst.

M B ORI D

» iEEWE : FUR , PVL,
= PN © (FER | IPEDH,
= SR,

- BT,

w MR AL,

= PR ECE O TaEHE.

» Cabln rabaninl PUR, PUC.
» Focliss [PGA. PG

# Caeling in eptional,

» Shisid & aptenal

® Wi connection method i oxsonel
= Campliance with IEC E10TE stendar.

®
DEGSON M12:...
HEEENEEEN Cicular Connectors Parl Number

(B 7 S R SRR AL Circular Connectors Part Number Reference

EEEE - wild - EEer - BE - BEEEEF - EEas
WAl G smltp
(ETRE (sl
| -1 &l — RN
Pl v of T rbsoos Lt ol ~ EAHCxriended TomIcE
m
e 30,
4, W Pl T 2 any grasm
Rl et
W Rl Corpa
1 caitg
O A-A-Crcding
o B BCang |
0By TP st Sl VT P D
o] 'r:q-.p_‘ 1] N M Carwmmiter S50 [ mEm s
SR 5 FTRT 1 F- Favals Conrsdor (IR0 :::::
OF e
O
WESE Wi or Wi Bobacied AR Coniacd Typn A% Sarial Mamiar
—— 7 B dnekied (ISR 1 Y —1 (0] Pl ot R R
[T —— 3 F-Fameie i LT LA
oo
e ledd
D% Gubdn (30 & 28 Deams
D0 Gkl 041§ O=T Brmn
BT Aaweris S BT L Meling Tyl "F*';Ermm LB
(1 ainiing Typa | BET) EEEET Y 1] O aazaEr e
1A Ay Ty TR RS 0 F = Push P et ORI L
1 Prmanamiy Tepe PR e Y
- ool ype (L) APV LLTNT Miask Cabl
1S T SR B Cocrg-ULISTE
TG UL
1RO T FEARSTE 0 B LI L2TEAE ik Calble
1 T (ERED) B
FIE Srimpirg Cabds Tyes SNRES CGPRE TLITT e G e L
T [ OPUR LI R Bk Gadin Pt 1L
" T :-?!-':IIEH.I '
PR e
-
, Pasaiwiltimie fasrees
T [ T P m.;“-mmL
e ) I L - Biwdgie S Far Moiding mrd Rasenisly] i =
= A o By arel Sk iy LN g Bac P, Fo sy wel feerily] :.t“-ﬂ“ i
: """""H 1 5 - S, (P P e
WRFe Y L F-From =megel (WA M00Por Pl m.l.ﬂl—-ml
S Pt Hemgorstd (TR R Pare] okl 0200
© W - ezl Coreaiee TRPEESEor Pural T
TH - R el LRI o Pl 1AL 1 B O A1 H Bem

i

1 N 2ALUESEP PM-MTA-DEP- FF-BLAAT-D0AH]
P - RN MI2A-Codng, 6Pin, BESP , O ik, HaEIres PG L1 e | R0 R,

rigdm . UMERET . YT . BN DRASME . B PUVZADSRFRELEAS L DOAH

FOF Dolm i

1- 413 femake pug BPir= Pl NA2A0EP-FFBL AR AL
Drecaibe: Flasdc covarad & D and oF wird, M 12 A-Cosng. 5P, Samele sockel farmele Pin, heeed locked, itral phe o es, IPBS, PYC ol kacaml
Covmied by ULIE1T wite, e basgbh al 1.0, standand prod eets.

1 Dwbefe * | “decimal poied *, *[) %, “space *then ' 5 ihe finksh prodect nemitsrceck ps: PFRM IZASSPFFFRELAAD 1 BOAH

ram ll'llll'q.'lll-hH



ﬂmsm“

M 1 2 Sarias

M12x 1 SFETAREIERMERESL. | B 3F
Rl HE.

M12 x 1 Male Overmolded with Cable
Flug,Single end, Unshielded, Straight.

EIE A

:
i
:
.

&, e
.- [Ty —

e i £ 13 0, AL, 1 P
— Ty

e M 1504 v,
- v
#r_ b )
#ﬁlm- b e Ll

[ ven

=l |

sgs?

11
ii

e

Capial B iy, S il

Fira kg win eoes Pades

FIR {0

100 rearidng cpaa

L &7
&-Cicind Lo B Trer! i Ceoimad
B gy - T
_ 3 S | e | F4 | pe
P e e e, - :
: - noate et el
A
Pt it = " L a B o
B
Rara vaizags ko e . o e i
§asn e TN Fuitii N
Bkt P -
i ]
A it £
1w wori Sk
iy E:
= [ L1
o =
ong oms
s e P T

ﬁm‘

M12 500

M12 x 1 EFSUARBIERENISI. | Bl | dE
., E3,

M12 x 1 Mala Overmolded with Cabla
Plug,Single end, Unshielded, Straight.

EIES (- clh

HAEE Tochnical Data
= TN
M=l bl Cardmd prem r
- PR — -t P —
i £3.54,38 08,08, 15, 13 Por Smum Tiea alizp wih Wcks Flatia
Ehn Em
= = i =
R
B v EREE. G it o PRIV
R —
o s S B Urarisidud
- cans s i,
ﬂi!mn T — -
Prae trea = =
53 - :
Mumber o Pins 0P 04 Pin
L0
hded
wa
Gagirg EEE
Frapd Ve
- meen N
[Rrrjarety
- &
Poria] voimga
"
hrw i
Croas iz
maTDE |
‘WirsCekls
BRAE
ek s
i
Dz
. -im
im
T
B T miorirec
S Ml
in
- R
st Camtorines |
Te
| e I
T Cainraes |
| im
dm
| P | =
l [T




M12 s

M1 2 Sarias

LES

r

2
:
:

M12 x 1 Male Overmolded with Cable
Plug, Single end, Unshlelded, Angled.

£ & @ PE(S,

[ ]

L

M12x 1 SFETAREIERMERESL. | B 3F

R

M12 x 1 Male Overmolded with Cable
Flug, Single end,Unshielded, Anglad.

8

EIE A

Tachnlcal Data

Technlcal Dats

i bl vy et ol Fimiad

= Ak mriing episy

i F
il

ELAETR

dufitl

W, W A phed

Capial B iy, S il

30 2 S0, 51 5 P

Fira kg win eoes Pades

FIR {0

|
_m“

100 rearidng cpaa

Emﬂ Jal.

Ealt D
CERD

|
B

=35 AT

LI

nwnmmmmwmw_mnmmmmh

i
| HH
¢ BRI R IR i L mmm wm_
; i
| I
¢ BRI R LTS mm_ Mw_
| |
L mw . | _
¢ ERE AT e i
b sigxes i
: %3 sizes| |2 _
¢ PR £
e BEgxs H
|
mum m_ «| ot —__ 4 5 -F_
m m:::__m o
3 ¢
g bl B : i
N . mn [T
N | it i
2 mnwmw.m g wwamm:gmmm@mw &&_
A .
i B H.w 651 mmzmm;m_mmmmm. _w““_
- L A
A i
& .H.;_m“.l.._, § mm __
i
g i
¢ HIBIGIEIE IR TR m_
1 1 1
j it
£ ela|§]1| nav [gEE1 i
gl L
DI PR 1 )
- : i _ d : ) i
: | m--
g 1 hh B m ;

worm e s 9

E’B'I-w



M12 Saries

M12x 1 SFEUAREIRMIRESL | Bl B

L BN

M12Z x 1 Male Overmolded with Cable
Flug, Single end, Shielded, Straight.

EIE A

AW Technlcal Data

R

{

f
i

HHH

!

LIER I il o

B34 0% 0 CB, 30, 1 e

=Sl |

!{??i

11
ii

T

Capial B iy, S il

Fira kg win eoes Pades

FIE {0

100 rearidng cpaa

1
P —— —— :
Codeg — Y e om Fl*l'.' L T‘.ﬁ}*
] ' ]
Erort Wissr ] L ]
(R ‘e ow - A Te
1 e o LR L
i o . - - ™ £
l“Il " R S W e T |
.,H,"" ' e Eo AT B B
Dhpnrd PR P £ et Bt i mat Pp -
e o = =
Wit Ha Ak R BN E
=] iy s mow LVE
P s am i iV g
LN - T M e m
e .05 oL
P T s Bt T
== et 800 . et fices ), s Ot
e A T AT YT PR T T T m‘ PREFA | RGTARRE, T TTAH TR Y (R T L AT

H1 2 Saries

M12x 1 SR EIEREIEL | S, B
-

M12 x 1 Male Overmolded with Cable
Plug,Single end Shielded, Straight,

I~

_
o J5| B PEe Y
SEAES Technlcal Data
Eo1 AT
Hiprdard e e o s ] o
N RFET
- A 5, Wi o i ul St Al U -
H.*-.,.,_ 104 D BI04 5 P _“-d._ i bl ey iy Wkl P miad
s ] 1]
Pitaar 1= 2R e E -]
RS AL ERN
bt Vielage PRIV Enki. g mpininl PURLT P
k-1 o] na
e tene— AR Erme Ehiwznd
L L] B L]
Zormd nrEEmE ien Nk % 16 reaiing mpcin
BOEE “
ATt M = =
R
e i = =
£l ! . g 5
- 10 Pin | i Fin 04 Pin
Mumbar of Pins 12 Pn o
L]
: e ] A e B Caded C-Trated
L A o —
Tamael Farat ¥ i
Geding EnE e A L | LI ) " ®
Praed Wiee - = 'ﬁ:l ! [ L B
(i =4 g Ll e =
L=l
ey A L] 154 bl 44
Ty
Poriac vk w il i [ s
HE
s g ST L kil bl
n__ PRy it P llya? L
WiniCakle | e a8l
188 EX 0] e a 1.5 1.7
WL pN S s ek TH W
Wiring bl P LY ey iy 1w OO
T L X1 8 dT Fr
1Ha 1A=
et el LT LT AT
e ne = L3 5] = ns
im TR 6 |- 0 0 [T T e, o] PG M AR B TR [T ST e SPSEpeT,




ﬁnmm‘

M1 2 Saries

ﬁmm"’

|.,_m_
M12x 1 SHURERREL | Bl B [W ; e M12x 1 SR EIEREIEL | S, B I'W :
o, Wk, - = o, W, i
|
M12 x 1 Mala,Overmolded with Cable e M12 x 1 Male, Overmolded with Cable
Flug,Single end, Shielded Angled. i Plug,Single end, Shielded Angled.
& |45 D pEefe & J45 B PpEdY,
SAMIE Technlcal Data SiAMS Technical Data
i v T it s m i =con e e ™
m T “u i Ca Bl o, B0 plN ﬂp 5, M b o ﬁm Coais? Al Gl -
P £,84 15 6.0, AL, 1 P b Tina Ay wi s P iy .o AR 054 58,11, 51 3 Lo R i iony iy Wi Fimind
Pt v g R - Firerrfrihl S PORIPVD m-!“ BEIV mas L"h_'“-_“ LRIV
WD S i s AR L e o
e - i S » 41 earing cpEie Mam i oot O » 8 g e
e =38 T = = i gl = T - -
wen e = = s - 2 =
18455 o N -
ane cam ! ve G - T“%}’ = Exm ':'{_‘.p fars) [ 'F'J ot
i d %4 XX o MalyT - it vl ieley .
I - “ “ B m e » s - -
I = - - - -~ = . - -
e Eo AT B T“_ AT AL
Goimenret P
LM ™
£




mmu M12 Serles mmﬁ H1 2 Saries

i
M12x 1 FL B | Bl 3F M12 x 1 F Al B RS | G |, 3F } " |I
BN, EE, B B,
M12 x 1 Female Overmoidad with Cable M12x 1 Female Overmaided with Cable B
Flug,Single end, Unshielded, Straight. Plug,Single end, Unshielded, Siraight. i
% |42 @I, i J8 | @Y
SANE Tochnical Data SR ME Tachnical Data
Eﬁi G i el d i e iz Eﬁrl ol e vy T i
"“_ MitE vk Mwngh ﬂ' ol Ca Bl o, B0 plN g N3, Ferum homkgn Mql & LRRTIRp T Sea——
e 00 £,84 15 6. £, AL, 1 P e Tina Ay wi s P P 06,538, 1, 1 P aEEN T ey iy s Plaind
- - um e mam P =n -
[Frespe S, T - e it Potaaria Pl P PV ._.;-H_' R an EEM FURTFYD
B E e =& i B p— e Al
E:Il - SO _'-m-l"_ = 100 reariing cpzaa “E” s L= m“m-“- = ik rnng cpoes
Arwisni wreaman P R = = e “f - e - o
sren e = = uksa o - =
i : , €l . 2
Numbar of Pina €2 Pin 04 P & P 06 Fin 08 Fid Mumbar of Pins 1) i 12 Pn 08 Fin 04 P
pp— p— — — % . . pr—— -
m-.- —— Wa oo 1:-'" o :I:_--'I.I o -I:.-F_. i -l.g’& '-"".l n..:g - 1_'.:::-..‘-.4':‘.' Fl‘_lu:-'-' tf.' -?l.- q'_ll- ooy
Froni Ve I 3 .I ll"':' o i k |:|"-_'._,-I M i II_'.' § ofr Przel Vi i 2 5 Ii-\:-_L %_: I [iY [} -I oo
ol e’ A ey 3504 i ¥ty F ke et
R - - “ » R ™ s > “
Rried vetngs W | f=o S R b Y m._r"t. W f R N e
_'l'l-||| . e i TR B ol HT__ AT E ] AL FNE
ey r 2 et £ B P P e mr Y Bt Pyt PP
i :.: I'ﬂ:‘ E WirniCabls 148 T L:, -
. . - s A5H AVE PR ﬁ :: o o
Viwrrs E ] i S iring L1, ]
i e i e ot T =, i Ty
B TH g ERD T EGY
L PP - TRT S AT A Mnmm PR T IR e S T TRABTL AT LTI im IR T P PR LU PR O RNV
i
[




ﬁ DEGSON

M1 2 Series

M12 x 1 LR AR BUEB 403Gk | B , 3F

M12 x 1 Female Overmolded with Cable
Plug,Single end,Unshielded,Angled.

EAREIE Technical Data

TRt

Standard

B

Series

PingtEa

Number

of Pins

EEFRI
Rated Current
MEBE
Rated voltage
IR

Insulation resistance

FEARERPE

Contact
IE{TiE)

resistance

Ambient temperature

PR
IP Class

g

Number of Pins

IEC 61076

M12, Female,Angled

03,04,05,06,08,10,12 Pin

4Amax.

250V max.

=100MQ

<5mQ

—25~ +80C

1P68

IRFEAAR

Contact carriers material
I FATE

Contact material
SmEE

Metal of nut

L]

Seal

EBAESNRIRA R}

Cable jacket material

R
Shielding
NS

Mechanical life

M12*1.0

PU

27.9
&
DEGSON
—H—
[ e— &
o
— =
3
3

Copper Alloy, Gold-plated

Zinc Alloy with Nickel Plated

Silicone

PUR/PVC

Unshielded

> 100 mating cycles

B A-Coded A-Coded A-Coded A-Coded A-Coded
Coded
Eoiz)
] 3 4 3 4 4/5 o\6
Codin
9 EEE o O o ol
Front View 3
1 2 © 0 1 o_0O
2 1
EBR A 4A aA 4A 2A 2A
Rated current
HERE V. 250V 250V 60V 30V 30V
Rated voltage
. el 22AWG 22AWG 22AWG 24AWG 24AWG
Wire gauge
e 4 5
E?'éi/@% @&E. 0.34mm? 0.34mm? 0.34mm? 0.25mm? 0.25mm?
Wire/Cable Cross section
1.BN 1.WH 1.WH
1.BN 2.BN 28BN
S 2.WH 3.GN
R 1.BN 2WH 36N 4YE
Wiring list 3.BU 3.BU \
3.BU 4.YE 5.GY
Bl 4BK 6.PK
4.BK 6.PK
5.6y 7.BU
. 7.BU 8.RD
i i8S iT8S 1TE8S TS TES
Description Order NO . Order NO . Order NO . Order NO . Order NO .
im PM-M12A-03P-FF-SR8A01-00AH PM-M12A-04P-FF-SR8A01-00AH PM-M12A-05P-FF-SR8A01-00AH PM-M12A-06P-FF-SR8A01-00AH PM-M12A-08P-FF-SR8A01-00AH
PVC 3m PM-M12A-03P-FF-SR8A03-00AH PM-V12A-04P-FF-SR8A03-00AH PM-V12A-05P-FF-SR8A03-00AH PM-M12A-06P-FF-SR8A03-00AH PM-M12A-08P-FF-SR8A03-00AH
5m PM-M12A-03P-FF-SR8A05-00AH PM-M12A-04P-FF-SR8A05-00AH PM-M12A-05P-FF-SR8A05-00AH PM-M12A-06P-FF-SR8A05-00AH PM-M12A-08P-FF-SR8A05-00AH
F#{L Customized | s —
im PM-M12A-03P-FF-SR8B01-00AH PM-M12A-04P-FF-SR8B01-00AH PM-M12A-05P-FF-SR8B01-00AH PM-M12A-06P-FF-SR8B01-00AH PM-M12A-08P-FF-SR8B01-00AH
PUR 3m PM-M12A-03P-FF-SR8B03-00AH PM-M12A-04P-FF-SR8B03-00AH PM-M12A-05P-FF-SR8B03-00AH PM-M12A-06P-FF-SR8B03-00AH PM-M12A-08P-FF-SR8B03-00AH
5m PM-M12A-03P-FF-SR8B05-00AH PM-M12A-04P-FF-SR8B05-00AH PM-M12A-05P-FF-SR8B05-00AH PM-M12A-06P-FF-SR8B05-00AH PM-M12A-08P-FF-SR8B05-00AH
F#{ Customized | e —
m PM-M12A-03P-FF-SR8C01-00AH PM-M12A-04P-FF-SR8C01-00AH PM-M12A-05P-FF-SR8C01-00AH PM-M12A-06P-FF-SR8C01-00AH PM-M12A-08P-FF-SR8C01-00AH
A PVC 3m PM-M12A-03P-FF-SR8C03-00AH PM-M12A-04P-FF-SR8C03-00AH PM-M12A-05P-FF-SR8C03-00AH PM-M12A-06P-FF-SR8C03-00AH PM-M12A-08P-FF-SR8C03-00AH
FRe 5m PM-M12A-03P-FF-SR8C05-00AH PM-M12A-04P-FF-SR8C05-00AH PM-M12A-05P-FF-SR8C05-00AH PM-M12A-06P-FF-SR8C05-00AH PM-M12A-08P-FF-SR8C05-00AH
=4k Customized | e —
im PM-M12A-03P-FF-SR8D01-00AH PM-M12A-04P-FF-SR8D01-00AH PM-M12A-05P-FF-SR8D01-00AH PM-M12A-06P-FF-SR8D01-00AH PM-M12A-08P-FF-SR8D01-00AH
a PUR 3m PM-M12A-03P-FF-SR8D03-00AH PM-M12A-04P-FF-SR8D03-00AH PM-M12A-05P-FF-SR8D03-00AH PM-M12A-06P-FF-SR8D03-00AH PM-M12A-08P-FF-SR8D03-00AH
i 5m PM-M12A-03P-FF-SR8D05-00AH PM-V12A-04P-FF-SR8D05-00AH PM-V12A-05P-FF-SR8D05-00AH PM-M12A-06P-FF-SR8D05-00AH PM-M12A-08P-FF-SR8D05-00AH
E%um Customized | e ceeaee T e S

66 www.degson.com

ﬁ DEGSON

M1 2 Series

M12 x 1 LR BL R 4@k |, Bim |, 3F

M12 x 1 Female Overmolded with Cable
Plug,Single end,Unshielded,Angled.

|48
=

BEAREIE Technical Data

e

Standard

£

Series

Pingt# &

Number of Pins

R

Rated

Current

HERE

Rated

:ci2 o)

voltage

L]

Insulation resistance
AR

Contact resistance
IEfTIRE

Ambiel

nt temperature

PSR
IP Class

g

Number of Pins

5 i

IEC 61076

M12, Female,Angled

03,04,05,06,08,10,12 Pin

4Amax.

250V max.

=100MQ

<5mQ

—25~ +80C

1P68

AR

PU

Contact carriers material

I FATE
Contact material
SmIRE

Metal of nut
B

Seal
EBETHNER AL

M12*1.0

27.9
=
DEGSON
——
[ c—) &
— e

Copper Alloy, Gold-plated

Zinc Alloy with Nickel Plated

Silicone

PUR/PVC

Cable jacket material

R
Shielding
S

Mechanical life

Unshielded

> 100 mating cycles

(ww)q

s A-Coded A-Coded B-Coded D-Coded
Coded
Ri3 4
Codin 4
9 EEE o O
Front View o O
2~ =1
BT A 15A 1.5A 4A 4A
Rated current
HEBE V. 30V 30V 60V 250V
Rated voltage
. i 26AWG 26AWG 22AWG 22AWG
Wire gauge
Cro?;%;ﬁéﬁon 0.14mm?2 0.14mm? 0.34mm? 0.34mm2
FRL/ERY
Wire/Cable 1.BN 2.BU
b . 1.BN
1.BN 2.BU 1BN
3.WH 4.GN d
b5 73 3.WH 4.GN 2.WH
e 5.PK 6.YW 2.WH
Wiring list 5.PK 6.YW 3.BU
7.BK 8.GY 3.BU
7.BK 8.GY 4.BK
9.RD 10.VT 4.BK
9.RD 10.VT 5GY :
11.GY/PK 12.RD/BU .
i 1TSS TS 1TSS TS
Description Order NO . Order NO . Order NO . Order NO .
m PM-M12A-10P-FF-SR8A01-00AH PM-M12A-12P-FF-SR8A01-00AH PM-M12B-05P-FF-SR8A01-00AH PM-M12D-04P-FF-SR8A01-00AH
PVC 3m PM-M12A-10P-FF-SR8A03-00AH PM-M12A-12P-FF-SR8A03-00AH PM-M12B-05P-FF-SR8A03-00AH PM-M12D-04P-FF-SR8A03-00AH
5m PM-M12A-10P-FF-SR8A05-00AH PM-M12A-12P-FF-SR8A05-00AH PM-M12B-05P-FF-SR8A05-00AH PM-M12D-04P-FF-SR8A05-00AH
E#{¢ Customized —— - —
m PM-M12A-10P-FF-SR8B01-00AH PM-M12A-12P-FF-SR8B01-00AH PM-M12B-05P-FF-SR8B01-00AH PM-M12D-04P-FF-SR8B01-00AH
PUR 3m PM-M12A-10P-FF-SR8B03-00AH PM-M12A-12P-FF-SR8B03-00AH PM-M12B-05P-FF-SR8B03-00AH PM-M12D-04P-FF-SR8B03-00AH
5m PM-M12A-10P-FF-SR8B05-00AH PM-M12A-12P-FF-SR8B05-00AH PM-M12B-05P-FF-SR8B05-00AH PM-M12D-04P-FF-SR8B05-00AH
E#{¢ Customized — —
m PM-M12A-10P-FF-SR8C01-00AH PM-M12A-12P-FF-SR8C01-00AH PM-M12B-05P-FF-SR8C01-00AH PM-M12D-04P-FF-SR8C01-00AH
A PVC 3m PM-M12A-10P-FF-SR8C03-00AH PM-M12A-12P-FF-SR8C03-00AH PM-M12B-05P-FF-SR8C03-00AH PM-M12D-04P-FF-SR8C03-00AH
cRRe 5m PM-M12A-10P-FF-SR8C05-00AH PM-M12A-12P-FF-SR8C05-00AH PM-M12B-05P-FF-SR8C05-00AH PM-M12D-04P-FF-SR8C05-00AH
=41k Customized — e
m PM-M12A-10P-FF-SR8D01-00AH PM-M12A-12P-FF-SR8D01-00AH PM-M12B-05P-FF-SR8D01-00AH PM-M12D-04P-FF-SR8D01-00AH
A PUR 3m PM-M12A-10P-FF-SR8D03-00AH PM-M12A-12P-FF-SR8D03-00AH PM-M12B-05P-FF-SR8D03-00AH PM-M12D-04P-FF-SR8D03-00AH
e 5m PM-M12A-10P-FF-SR8D05-00AH PM-M12A-12P-FF-SR8D05-00AH PM-M12B-05P-FF-SR8D05-00AH PM-M12D-04P-FF-SR8D05-00AH
i%ﬂ,{t Customized weeses L eeeee L e e

www.degson.com 6 7




DEGSON"

M12 Serios

M12x 1 AlEREICRMNREIL R0 | B,

i,

M12 x 1 Female Overmolded with Cable
Plug,Single end, Shielded, Siraight.

e,

e BEEmh
Eh— 1 e i et ekl A
i e
fatan Wi Faviks Syt by sl (2 e P ey T L
Wt v Pl e s e e Tiaa Ay i ke Pistas
WL .
sk Campat e . BBma
ﬁp B hh‘-hum-—u PUR PV
R-L 28 e
i TR ot Biakig Bk
H_'u g .'-'m‘ = 10 mairg cymee
HTRE <
Arbal wTpaL e = =
(== e — =
A )
Mumber of Pins 03 Fin G4 Fin 05 Fin 08 Pin 08 Pin
l::i-ﬂl A-Coedt | ATk BTded Bt P
i o i
Todag o %
o e
AN A
Flybgmd ad v
B "
Al
5]
Wirs gusge
bhlE
ik & Dy iz
byl R
L
Wirng
i
RO
=
e
e =
PN Cumiomizsd
S
¥
e e
™
-
e
TEAR (mdrar
e
e
| PR =
ENSHE 1o i okt

ﬁnmm‘

“1 2 Sarias

-.q_ MITLD B
M12x1 2SS R | BN, A
Hak,
M12 x 1 Female Ovarmolded with Cable
Plug,Single end, Shielded Straight. i
EAES LS b
HAENE Technlcal Data
£ s mae— .
n WAL, Farman, Sormkg i m_- a1 30
U 10 50,06, 60,80, 1.1 2P e s Kkt s Plaiad
-““m LT = Hilerrs
e a5y Sl it e el
-I AN .'..". 1T m—
[ — wAvo L et - » 150 rning cpcies
- B = 2
s o - -
Humhtr&fl‘inl e 12 Pin 0 Pin 04 Pin
L 0 fﬂx g.e'.?."-q 1" : 4
Cadirg [ 1] e S o] R o
o < g {ihals (o5 2
"".' L3 .'-c'; e My | ]

|




m‘ “1 2 Sariss m@ M'iz Sorins

EIL)
]
mMi2x 1 AR REESL | B R = ' M12x 1 FSUAREVRREEEL | Y, Bl
&k, | | Wik, .
M12x 1 Female Ovarmolded with Cable . M12 x 1 Female Overmolded with Cable -I E— g
Flug, Single end, Shielded, Anglad, 1 Plug,Single end, Shielded, Angled. Fr— E
FE A £ [45:{4p PR 9,
EABE Technical Data #ABE Technlcal Data
. e A e 8 v e IR
o 2 Famaia Avgiad ik I Eapaas 8l g G planet =, 1, Farsam dres i Cuppas Aoy, id pning
. 9,405,068, 00, 10, 1 Pn i B Ky M Pratn ek b O 1.04.06,38,00, 101 2P e S g A Ml Pt
WP Fre e Sllzans R R, i Ellcerm
FoaE A wRES G
Fosied v 3504 mam. :“ " PO PO ety R mas :H'H' .l LR PYE
ﬂ >1E0MO Evnbisd LT FEID e
. Fnislcirg ik o FeanG Shai=ng
. - oo, g s mn <one g, it s o
rbars wrpaw i - - i mpentass -~ -Ha — -
Eraa o o == e o 22 13
i W £
Miumber of Plhs Off P 04 Pl 0 P 0% Pin 08 Pl Mumbar of Pine
! ! !
(5]
 acdind Aoced o MeiCmind | B-Tormd Lt ] il . DSipaind
K5 ——— - A an A 2 —
tadrg AW LY oo I' *-"'::_.H-'_,. N ?- ;'-;..__'. A *I."-"' '}-,' L Cale .-LI" Gesimg EnE :'; o ::'r‘fr 1,’;-_.* bu"il: I.?u = _'.!1. - +
Fromi Viesr I .-..!I o .:;.__lI Lot ,-I i i |i.r i o Frnal Vi 7= ¥ niy .'u%&:»}, Ligbg I
g L 1 - | 'IE;."'-"-i i‘-"a—:"’t - "'r:n!'.-‘ i"ﬁ e i_;'._; Ll 1
mm“ LS Ty 4B A o 1 r A LT 154 a8, [TY
it | e s
s w sane - - sev | v - - - s
it sanma e T i Bismy o e e T s
e et s e e rcyena B LR By B
aNan m_ -
- i 194 L L 2z 1
188 - TWH e i A T ey 15
B 2w ey i B e
whorg e T 1y Vg Bt P B 16
e 1w S i Y :: :ﬂ B :m'
] ar i myT i l'
L TEE mE b T b Y i T
Twanrigloet Fare Dieder 0. [ Dk, ke 1. Qerker WO e W1 . Dkar WO
_Im | PUBHUA DT AT | MRS M TR B | RSO DT IR A | o m | O ESNDRRMTERANEA 0 0 MEEMUAITUTERAIA | 0 MESHEGERITSANLEAH | PSS ERRRPILIAH
F3 ] PRI A T T | PR i oA BT OB [I'd PRI LA A P TSR =T I PR | TR A PRS- LM T ST S0 | PRBCRL i elr T - 30
"SRl Cumiomnd — = — ‘ Cpslorirac - | -— — wm w
. T . | PO e — ot e T e e O R e S
] P i L™ TS 00 (R =Tk S e P NR VT Pl Eoke S | im oyt e RSl W= 2D Fosiend | et P T - gl LR = TG -0 Pyl Ll TSl
| e =] PUSHATRR T S | PRSI VTR | PO A A o T | TR | ATy | RIS R | PESUTEORS A
EREovicwed | == | =— | k= B Comoieg | L e == i =
= ER LK Ll TRl Pl o £ T SR A o ST RN e B e R T im FRS il H Lal AE SRR | T T A P WL T S A [0 SRR oy S et O
= FUNMTI ST | PRSI LA PR U | A P S 3 =il T || — ] | P il [ L R R L -
o< i S || OGRS REEEA | PUSARN ST ARG | Pl A . SRS e W BRI | Aeawmoeemeemna | SMSMAGTROSEN | PERNBOFTIRCEIN | ARAOSRRLEe
T, Cuslosdand | = — == B Coslined = | == b =]




ﬂmm“

M12 Serios

M12 x 1 EFelREScRMRESL | BR08 , 3F
R, EWx.

M12 x 1 Male Ovarmolded with Cable
Plug,Single end,Unshielded, Straight.

&[22 B e

SAEME Technlcal Data

=

g

el L e
Elay wmrni PG Il e Cowdimd surhe s ra i
[ ) i B Ll
g Lk Conta s Teichy
TR £1,34 Pin smem Ti ity ol 1 Micie Pigin
[ 5] Em
skt Carvae - G s
S R
ety A3 ram. e Japhat woinl PORIPWD
enek0 5]
- ; LTt i L nvakded
LS L4
‘“ull - LD i 9 10 raiing oyoea
aoRE =
o ey SRS =3 T - -
e e — =
i o
03 Pin 0d Pin
Numbarof Pine 4
= |
- [ EGeted e E-Loaded =]
L | ' ': R
Codag mE F F. | {
From: 'V esr
- e — = :
RN
Rl i ] 18 18 s 15
EHWS
Parisal v W [T [ [T aaw
el
A g b Rery Akl Akl
R
fateny B 1 Frwt N R
Lt ]
W int e
i Emt L 34
i - ou AN it
Wing el 2 23 amis
. % ANEOH ABK
e BL B ] BTl e
Lt Order 83 Croimr ™0 Ol N3 Orcer ™0
[ I e S I A A PR TN AL A [TET LI TRF T PRAHTDH S AR
e e PSSR | POSHeEEN| | RAISSNSREEN | RenceesdleeEsl
PR Duamcarined i i saia .
im Pl PR T B Fla TP I A PR R T PRALHIT- B NI B
| Cumcrbad a1 T o e

ﬁm"

M'i 2 Sarias

M12 x 1 §HUABIESEREL | Rl |, 3
s, w3,

M12 x 1 Male Overmaolded with Cable
Flug, Singla end, Unshielded Angled.

EEEE

ERESE Technlcal Data

=l ST
Harmbar) b | v Vs e L
f."_ 10, Mnia Angled BTAm e ok e
e Y 0% 54 i RuES e Ry i hicksl Plassd
L a1l 1 ]
Plarsad Caimvmcd TR, R Aicere
ERRE EWHIHE
Pl mcitngs Ll Ealinnaient ruplasinl PFURSF¥D
_I i) ES ] "mu [y —
“E |-| i chEs _“."., . = 1l iy oyclen
K T i 4 BT - =
1 o IPsa —_ a2y
B o
MNumbarof Pine 03 Fin D Fios
Lo B Cadedl | T | = Coded [ T-lowwad
- = =
= %4 Dl b
= i
Mo e - L Y | £ A
I_:?Hl' W [ o | e o
__'5:-. el Tk Al AT
S - Tt Earwred (-
1Y
WaiTiak b
e - 1.8 188
s 3 ETTL (i
h- pS. e =y - s
T = TN 40
ol Tag ey g =g
[ [ it Dol HET o HIT'
- TR R A T A T T A TR T H Pl | -l e S T el e DA
Fat o = e e e i s L LERS S o'~ ol ey e e A R b ok v 1 S e T S o) i s b e P
m!u o - . e | — —— —
""" in PRNSTSRRE | TENTGRANRNEN | NSSREEDEN | ReaTOrssme |
m o R A A A | Fhd R PR A Pl -4 AL |
oy = T TR A o] 1 W SN | P e R S Pk 7 - AL l
__ W Cumrnd — _—— i m— —]



ﬂmm“

M12 Serios

M12x1 ASTAEREEL | Rin, 3F
R, EWx.

M12 x 1 Female Overmoldad with Cable
Plug,Single end,Unshielded, Straight.

i

i
i

= EERaTH
Elay wmrni PG Il e Cowdimd surhe s ra i
L] Favale Arut W
g = Conta s Teichy
TR 334 P smem Tina Abap i 1 Micke Piging
W A
st e . Lo ey
RS i EE
Pl vt BIEN raEa. bl i i PR P
LN i
- : =100Mo il L aldad
e
‘“ull - LD i 9 10 raiing oyoea
HTRE =
e oy AR =3 T - -
BERE - = it
T 03 P
n 04 Pin
Numbarof Pine 4
u 1
- EGeted e E-Loaded =]
L -
L= R =
N & &
Froer: Wase
it et .
o s 128, 18 138
L]
Farted v W A i A
K
et AR Ramn [Iees
R
e At 1 1 pr 1 mret
EEEE
Wikt
ina P 1.8 BN
otk 1EG =B iy il
Wing il 2 £ LT
= £ LF- 8
s I L L] et
Bt il S0 i MO a1 o M1
- PRHSTSHEPTSL AT _ POATIRTEMATM | PATSIEESOLEN | PRMTTORTTRMCMON
£ MLNECP T- AT PRSI BTl 0 PR T -5 AT AN PE-SHIT-D TSR T
"-"J “ llm-_-._“!:l:" .-I||-_ _-_l "5__-- I |I_-._I _l _-H_l "-' _l_._. ii-_._' ‘..l_" _H_IHI'E-_II_I'F_l"I_I 5.'"_
PR Duamcarined saia i saia .
i oo P T A - [ R R R TR gt L TS Al A e T I T A R
i & PSS T B- | P - e P AT B A PR AR T A
;-i‘;_'_d el kb e [

ﬁm"

M 1 2 Sarias

M12 x 1 FLEUARBIE SRS | Rl |, 3

s, w3,

M12 x 1 Femals Overmolded with Cable
Flug, Singla end, Unshielded Angled.

EEEE

ERESE Technlcal Data

-l TR
Harshar] Lo bl v Lo
“|| M, Famaln argied mll N e A, Reld-oial
ERET
PRI (.04 Bin e Tor Aoy wik Kickal Birssd
Faed Cupywrd DA, F— Saai Aczrm
E2EE e By
P it R reas i ot repbgsd FURIFT
_I- ES ] "mu [y —
L bk
L] . ! - = 1] wyirng ryches
et g5 T - -
1 o IPsa —_ a2y
T T
- 13 Fin Pin
Numbarof Pine b 04
W - b | T | S Coded [ TGosed
A 2 r b
Broei Ve |j=E ! j L 3 I d_!
et o St
| _I #, 154 1k | A B
ln wlll ) L aw | N ey
.__““ = i fidad ant] (]
S - Tt Earwred (-
E-1- 5t
18K ] b
M ma e
e bt pepie g 1m0 m
. - AR T
L. ] &g (RS Leq =g
Vet oo WO i B Comier M e A,
L] PURFREOPIFIRASLIN | 0 PAINTIRRERANDRA 00 PUMTSORUTIRACOAe] | 0 0 PEMTTMAORALOA
™ PR TP TR I P LD SRR P AP TR PUAHIT-HP - RACHEA
m - P — S S ——.— _-_-_T_ B e S —
[y P — =i - ——
..... orvrararemes — = - i
- CUNFRERYT | AR | ST __n-__m____m_____!
| R G s ren e — 1
PR . |



ﬂmm“

M12 Serins

M12x 1 ErSUAREERERRLL | AR
R, EWx.

M12 x 1 Mala Overmolded with Cable
Plug,Single end, Shielded, Straight.

il

Bl L e
L HC e Coiinl il Pl
B ESiAm
s i R it ekl P
Furmar p] Few Bl Piry e o i Fiaz kg doks Plgiae
[ 5] Em
Fusiard Carm el o ==
S [T TN
Eiidind vuskigen SEVAL BV 22 :‘l had ok
enek0
W T A ot Eialding
Ll LS L4
Cionic: reslvisras o] = » {00 maieg oy
STEE =
e oy AR T —
B oH =
i :
=3l
M urmibar of Pina o8
L &1
Covwdl Bt
L 1
. il
Froes Vs
TR
[ Prrp— L L
A
Buatact wnimng b S0V AL PRV DD
L]
[ —— ]
WL
Croms amclon ERTe=
18
SEul Fn ]
EL
NEE o
R B
[T
TWH
(1]
P Lan
B [T
L} PRSP LI P A 1L I
e o] el G DP AT AN
L] PO R PP M A
B Do —

Tﬁ B ORI D

ﬁm"

M 1 2 Sarias

M12 x 1 Pl B AENESL | k| |
e, Wi,
M12 x 1 Femals Overmolded with Cable
Flug, Singla end, Shielded Siraight.
HEME Technleal Data
- s i i el
'E"'"“ e o e ki il
Farnien of FYm: 1 P el ol Trc oy alt b bickal Pl
Ll [T e— 1]
Almsd sy =
51" A N mﬂ
—_— s -
e <o - 61 g i
et 95— 41T =
pmli iraT £k
L T
Mumbarof Pine 08 Plin
a WCowpd
b 2
Erarl e 1
. =
.o B T
m‘.‘.u RN
i ittt
e
il 268
Wit %2
etk o
Werieg s
SEH
T
i
o ST ]
e it 5O .
T PR T R T
AT, L. PR ERNE T THTOH
[ P it G BTG TS B
THLH Custorissd -

muﬂmr?



ﬁ DEGSON

M1 2 Series

M12 x 1 $tIUBBL R S5HEL |, Bin , JF

Bk , B3k, LED,

M12 x 1 Male Overmolded with Cable
Plug,Single end,Unshielded,Straight,LED.

SALTSPRAY

I

EAREE Technical Data

M12*1.0

09t

(ww)7

Tl hF AR
Standard ISGHE Contact carriers material PU
g i HFRR H
Series M12, Male,Straight oA Copper Alloy, Gold-plated
Pinfti ; SRIRE i -
Number of Pins 04,05 Pin Metal of nut Zinc Alloy with Nickel Plated
e wE -
Rated Current o Seal Silicone
EEE EBAEShRE AR
Rated voltage DY e Cable jacket material RURVIEVC
“BREEIE > R .
Insulation resistance = Shielding Unshielded
#Efeea e HtlE )
Contact resistance e Mechanical life gilodiatngcycice
BTR o
Ambient temperature 2~ e - -
BriPER
IP Class e - -
L
Number of Pins
A
A- A-
Coded Coded Coded
Cﬁﬁg 4 3 4 3
EEE
Front View
1 ~ 72 1 ~ 2
R A
Rated current . b &
EEERE
Rated voltage V- 250v 6ov
. &l 22AWG 22AWG
Wire gauge
HEEE . 0.34mm? 0.34mm?
Cross section
ERL/EB Y
Wire/Cable A U
: 2.WH 2
R : 3BU
Wiring list 3.BU
4.BK
4.BK
5.GY
fiEg 1T8s TS
Description Order NO . Order NO .
im PL-M12A-04P-MM-SL8A01-00AH PL-M12A-05P-MM-SL8A01-00AH
PVC 3m PL-M12A-04P-MM-SL8A03-00AH PL-M12A-05P-MM-SL8A03-00AH
5m PL-M12A-04P-MM-SL8A05-00AH PL-M12A-05P-MM-SL8A05-00AH
=& customized |
im PL-M12A-04P-MM-SL8B01-00AH PL-M12A-05P-MM-SL8B01-00AH
PUR 3m PL-M12A-04P-MM-SL8B03-00AH PL-M12A-05P-MM-SL8B03-00AH
5m PL-M12A-04P-MM-SL8B05-00AH PL-M12A-05P-MM-SL8B05-00AH
FHL Customized | e e

78 www.degson.com

ﬁ DEGSON

M 1 2 Series

M12 x 1 st BLEB 4Rk |, BaiR |, 3

Pk , &3k, LED,

M12 x 1 Male Overmolded with Cable
Plug, Single end,Unshielded, Angled,LED.

BEAREIE Technical Data

TR
Standard
£

Series
Pinft#
Number of Pins
I
Rated Current
HERE
Rated voltage
HBEERIE

Insulation resistance
AR R

Contact resistance
IEfTIRE

Ambient temperature

PR
IP Class

g

Number of Pins

IEC 61076

M12, Male,Angled
04,05 Pin

4A max.

250V max.
=100MQ

<=5mQ

=25~ -£80C

IP68

I FEARTR

Contact carriers material
AR

Contact material
SRiEE

Metal of nut

Seal
FBETHNER AL

Cable jacket material

R
Shielding
S

Mechanical life

M12*1.0

0'ge

(ww)q

PU
Copper Alloy, Gold-plated
Zinc Alloy with Nickel Plated
Silicone

PUR/PVC

Unshielded

> 100 mating cycles

gz
A- A-
Coded Coded Coded
izl
; 4 3
Codin
¢ fidifs
Front View
1 2
~
Eorh A
Rated current ) i A
HEBE
Rated voltage V- 250v 6ov
. LAl 22AWG 22AWG
Wire gauge
HEE . 0.34mm? 0.34mm?
Cross section
El!;é&/@% 1.BN
Wire/Cable 1.BN
2WH 2w
o) ' 3BU
Wiring list 3.BU
4.BK
4.BK
5.GY
i T8RS 1TSS
Description Order NO . Order NO .
m PL-M12A-04P-MM-SR8A01-00AH PL-M12A-05P-MM-SR8A01-00AH
PVC 3m PL-M12A-04P-MM-SR8A03-00AH PL-M12A-05P-MM-SR8A03-00AH
5m PL-M12A-04P-MM-SR8A05-00AH PL-M12A-05P-MM-SR8A05-00AH
=% customized |
m PL-M12A-04P-MM-SR8B01-00AH PL-M12A-05P-MM-SR8B01-00AH
PUR 3m PL-M12A-04P-MM-SR8B03-00AH PL-M12A-05P-MM-SR8B03-00AH
5m

EFIH Customized

PL-M12A-04P-MM-SR8B05-00AH

PL-M12A-05P-MM-SR8B05-00AH

www.degson.com 7 9



ﬁmm"

M12 x 1 ASUARBIEEMELL | Sl 3F

R, B3 LED,

M12 x 1 Famale Overmolded with Cable
Plug,Single end,Unshielded, Straight,

LED.

%[22 B pEYY,

EREN Technlcal Data

E—-J FRC-HiEn e il s n et i)
"l“ Wi Favalairsight “.-Fl -l e N, G e
FEEE
P S P TR Tira g ol Mk Piging
#ﬂ | FTT T = Hlcone
R = DEAE
e v 335V . Sy - PR /P
eapELE Ly
o =i E T lipraldad
EME
“EI - LD P 5 10 raiing oyoea
ETHE = AT - -
) e = =
; P & Pin
Number of Pina o4 o5
.37
o AToded ACoded
u . ="
n Lk g Ted
Codling T Oy e
.8 el (%)
T o 1 b t——
N
Pustied et - " bl
Lt ]
i vl W st N
o
Yirs paaga ERNNG EARNG
e
i i Lk o !
L=l -
Wirdiane 184 L
e WM a
Wirng e 1.1} R
1. o
[ Erepg 5L =
e o Dinder I Coder R
L] PLAPIEMPFT-ELAAT D0 LA TR-DEPT-ELAH B0AH
= LA T LA IO LA D T LA B0
e - AT T B I D LA A |
PR Cakaied = v
- L o o Eok L - L
I A B T MR A R B0
PR — T B | L A T- S M A
!ﬂ (= - i

ﬂmm‘

M12 x 1 FLEUABIESEL | Bl , 3

R, S5, LED,

M12 x 1 Female Overmolded with Cabla
Plug,Single end Unshislded Anglad,

LED.

BB

EREGE Technlcal Data

=k
Hirmimel T aremad e v o
Lt .
s Wl Paeva b Aeg bed I o el Ll T A0 L =L
l'lrl'l'-l-_m 24,28 Fr _’ﬂ-“ Thaz hliay win Higtal Pasd
LA e
Fsd Eumend S oistes
EERE RSN
g FLT e i PR PVD
AR L il
e [ e lsarisldnd
L kL]
“EII - s vl i » {8 wakrg cyoiea
EITRE e
dTiar BrpLErL RN = =
pes = =
L - ;
Il'l
Numbarof Pine 04-Fi 08 Fin
W
L] [ e ]
L ] r i Y |
Gading — BH o g
Freet Ve \ oo | | .;"Ex I
B F Rt
|mER
Plhear A o F1Y
WL
Pk vl o B (5
L1 8
W g el Shasry
il
Baare B et
GRS
Wrwitaia 1 :‘:_
e T s
Wilrig B i :
SRK -
ngr
L.c) e B
it ol B e D)
im PLASTMA P TSP I PLACES OIS I
s LA LEDAT T T SRR G-I P LADAT AT A
. - PLASA L TS FERE- M EATER I R
L Costorramd i .
----- = FLS P T B EX:IFEMLAN: 7
3 PR T L F R Pl a0k f FARBRI)-aas
vy S PLAHTIA-D T T- SRR P (P TSR
m_ﬂ-—l cees ——

mu-.l-im-l-!'l



ﬂnmm‘

M 1 2 Series

Mi12x 1 T HEERSEEE | fE5R% .

H0.5mSEE,

M12 x 1 Male Panel Mount Recaptacla,

Rear Mounting, With 0.5m wires.

|
BEQ AR

HANSE Technical Data

°,

=

o ]
Hmteed KEwen et — oo
- 12, Wi e R g iy, A1 b
oy, £3,04,05,00, 60, 18,53 i 2P Emi Ay win Wi e
it L Fry, - AFpana
REAE mE
Fcad s S e Liras i sat
# . =ibtH m|||| 4z R p—
mEnn i e =
ErR g = =
ety : — B
=" L, =t =
e
Numbar of Pins 3 Pin 05 Pin 84 Pin {8 Pin
u
o 1 oo A Byl pliriasd
- - i o
Sl © ce] | Ed | F
Frons Vs s 1 =
e el LD
L.TUs |
Futied (.3 £ ELY oW N
L]
Partast ik W EER [ 0 - 5
15k
g S e pre B
HED
o 1 et B - Lo
10
(s 1o TEN
R LBk 2 Er
180 e
itk S I ) s N3
Wiing et i b g am Ly
A il ars [ 3.8
a0y P (1T
[ § =]
] e e ey HEs
A i (W = Dl WD O Pl Coomiigr R
- rmamie | =l el oot
o EL D e - g e e
asm | SOTNEPARHTITHIAN | TGP AT | EAAWITARCTIT O, | DM UAGOESS TN | TIPSR |
YIS ariond | — - = —

Ezmm“

ﬂnmm‘

H1 2 Saries

M12x 1 SIEERRREE , RS,
#H0.5mEtE,

M12 x 1 Male Panel Mount Receplacie,

Fear Mounting,With 0.5m wires.

)

=

:

il
& [45:{ 4 PR Y [ -
HEAWIE Technical Data
h ECai Ui cwrwrw rapw
il W13, ek e e
ot e PO 0006, 6, 14,00 ,10,15 Pin _"“‘_ R —
o et Al -
BRES E
Bapies ot i i fir ke
..-” { “‘" ; . ER T ]
Corec mumron e =
EfTEE e R =
™ i =
L1 5 e
Humber of Pifs 10Fe M-Pin
=“| ; el [T
-1l AL
Gading EER II“",; . I& Ir
L -
Erosi virs 4 T-'-
ety i =
TN
e A £ 4
|
AR - o
e
i i T F
F i Btdem? bablaw?
188
i
Lt ] W
— = -~ i
et B LN
Wirieg Bai L i
Fam . e
BaY RiFY
450
1oNT
E i e 11 e e
Lriolin over O . - Dol D . ol IO
b ek S STIRTR
o EE""—'._ = - o H=— ]
£ 1. ] R L B R T T e o A et e R A - - A ST -
IS e = = =%




QM’

M1 2 Saries

M12x 1 SElEEREEE  Faixs

0. 5miske,

M12 x 1 Male Panal Mount Raceplacie,
Front Mounting,With 0.5m wires.

B )AL

SAEME Technlcal Data

s W@
[ IECInOT i et ekl Pa
s R
fura i s Feaniert skl K b, S
i £3,04 115 06, 08, 98,52 Pin smem Tooa Al ot Wit Pl
M e
sk Campat e — pr—
B o
Eiidind vuskigen REEY raa. Ui
EREEE AL
e BRUES PHERH "'""'“,__‘ i 1 gy
H_'u Shng - —
HTRE <
Arbal wTpaL e = =
(- e — o
i : . - ; ]
MNumbar of Pins 02 Pin G4 Pim 03 Pin 08 Pin 08 Pin
L =]
- BeCeyiadl At Ao BTt (=~
o) = o =
| Gy | G | e | FY | o
From: Vs . - e . g™
e 1 Vo B R :I"le__:ln
e
[Py L “ A a4 o o
L]
Rsa vatag o my ] o A P
il
W EET AL A ES S
HET
L 4 R FETe P P — Py
1%
Wi [ L] F1 ]
i i 108
18 e
- sy il o naw am
Wing il A 18 A L1
AN A ark PR
e iy fIET)
ahs
e T e o cag e
Bt i (WD) |Ordien WD . el Wi Do il . =, r§
Ak NN UMD | DEWEAIETY | DSTAIMMIBAGTN | DATAREDIN | DA RS REN |
P [t comoriens - = - o
e s AT | SN PAINEE | RSSO | DG eS| | B R B
EC}E Comtcanized = == = i Lt

'E" B ORI D

ﬂm‘“

M1 2 Serlea

M12 x 1 IR SRR | A

HH0.SmizEs.

M12 x 1 Male Panel Mount Recaplacie,
Front Mounting With 0.5m wires.

s |
| T

T R
el

NTET], SR
HEEE Technlcal Data
(58 Lo ]
B b omsnd v v | e ]
L] E R
-1 CRERE o - R R G0 - R
|-|.|.|.|...-I .rkr.. LB L0810, 12 Fin _”-.,_ Py i s Pt
MRS L2 ]
Pt O TN = e
REES
- 5 . likialing R ]
T ok
—— : EE b -~ 1O i g Epia
ol L —
CoTEC TR .
EFRE -
Ly S < = 8T = =
BiEE
=" e e o
HE . : :
Mumbearof Pine e 11Pn G Pin M
11
Ao wCaded BCades T
R A A .,
Cailirg F"-‘{: Targt I?i i ..
EmE L] L] - |
Freetitne + ¥ a 1_-%&! ; lll{ - .
1 gl e _" Ll
|mER
i # LA LTA m ™
o
Pt W W A - S
L1 8 AN AT EhAT SERMANTL
T e
il
Pl B B i Byt Bt
18
188 (1T
b1 1] 1WH
G LWH AGH 4
Wi labin £ B 2t 188
e ET T i B
g Bai Lvm 1 sy
T L b s
B A0 L
BED HNT
T TLEPPE
[hY T
L.c) Tag LR Lisg Keg
Vo oo W . [ Do T O R,
B MCANMSRENT | SECACMEREEN | DSOS | DD
. W Comioed - e eee e
] SR AR AN A AR SRR A e o ] - P
(SR i | = e = o




ﬂmm'

M12 :000e

. Ao Lmey
M12x 1 A ER R SR, e .
0. 5mSEE,
M12 x 1 Female Panel Mount Receptacie, —
Rear Mounting, With 0.5m wires. —
w 1] wi g
uu.ﬁﬁa:';
AR AE
AW Tachnical Data
B it ekl Com Loty v PE
B3 RTHE
Caslen W1 Frmsie okt Y i by, 418l bt
Ny el P £,04, 05,0, 8, 18,1 P [rrivsprr B Ay &L8 Wik e
'_“u ! FTree ey T
[TE T T BB h [T ETY
_III ; =ibtH m.‘ R p—
AR et = =
v T ] wr rlew - =
reriamy] . — R
] et = =
g .
Mumbarof Maa &3 Pin B Pim 08 P & Pin {8 Pim
=-| | #eliocded i Ao Beioowd -
—— —— —— -, a5
= = va o ¥o oY Voso ¥ of 40
e B | o DA | oo so o s § ook
e, | el | F | "'|-'='¢55-"1'r 3004
m A - A, [T o .
m“l W R SO [ 08 IV Y
“‘_" - TAREFA TRt Fe ] R ey
LI T tatemd fibtewt .2t 1t
i
e - 14 180
1 ol 2w i i
el ami W =y 1AM S 3
Wing e e, BEY . LR gy
LI v, s L
how rog LY
i
nE ey T et -] ma s
E Ol W Ol W . Dk K, Corar i Corser M.
i ST ==t TR S .
PR S e — = == = =
aam '|_.-. AP | NHAT MR | S IR | TEATRR I | EITA A
risila R fumcniaed | e o o | = Y-
E’Bmm“

QM'

M12 50

mo Lmny
M12x 1 AR EEREEE , fERE
H0.5m Sk,
M12 x 1 Female Panel Mount Recaplacle,
Rear Mounting, With 0.5m wires. _ ——
' b wans i
& [48-{ an PP
AR Technlcal Data
sl
e ECa | i P
ﬂ“ o e i Tnppar Mg Cholplanas
Pl of e CHL Bl B, B 00 14,15 Pin E— R
o, e AN, vy =
e
] PRI e
m—nlln =108 e B
L ! s -
AT e 4 =
(=" L ot ~=
ik o P % :
Number of Pihs 10 Fin 120 08 Pin 4. Pin
B e P P N
i —
LBl L '\!F 1.-:3“&! -'I'-Q _'|i-\.
ookl - o oqe ||F | .
Troetdlee i hlLr 1 i-\:- o L -'i-\;n |
LN Tt yzho
WO i e - "
Inw
!n—dw b A puc i
'_l'.:# el e o
s
1. 1 T)
T = 2w
[ W AOH .
agn ] s i
e | W s e
‘Wrirg B P e a»
(§ T LR e
[ 11 8 AND T
B0 BT
o T
2RO
e Tae — o —
e A P T-IFRA T | T s -
e o s TRBmT | S
i e EHIT - B O PSR Ik
MIFLE N o =Ls] ¥ e =

Lt mﬂ?



ﬁ DEGSON

M1 2 Series

N . 2ty 20.0 L(mm)
M12 x 1 FLZUER & ARIEEE |, IRATREE |, | |
HE =4
M12 x 1 Female Panel Mount Receptacle, —
Front Mounting, With 0.5m wires.
M12*1.0
M16*1.5/PG9
|48, an D4
EAREIE Technical Data
TR I FERTR
Standard ISGHE Contact carriers material PA
EY]) R H
Series M12, Female e | Copper Alloy, Gold-plated
Pinft# . SmIRE q T VT
Number of Pins 03,04,05,06,08,10,12 Pin Metal of nut Zinc Alloy with Nickel Plated
R BB »
Rated Current o Seal Silicone
MEERE i .
Rated voltage 250Mmac Shielding Unshielded
HERER0E = HEw i
Insulation resistance AL Mechanical life BUDGEIEEES
FftEafE < — —
Contact resistance e
BTIRE —25 ~
Ambient temperature 2~ e - -
B E L% _ _
IP Class e
FTEL
Number of Pins
B A-Coded A-Coded A-Coded A-Coded A-Coded
Coded
4R
: 3 4 3 4 4/0 o\6
Cod
oding FEE o O
Front View o 0 3\0 o7
1 2 1 o0
2 1
ERT A. 4A 4A 4A 2A 2A
Rated current
R HERE V. 250V 250V 60V 30V 30V
ated voltage
. el 22AWG 22AWG 22AWG 24AWG 24AWG
Wire gauge
ﬁé&ﬁ. 0.34mm? 0.34mm? 0.34mm? 0.25mm? 0.25mm?
Cross section
1.WH
EB L/ 1EN 1.WH 2BN
Wire/Cable 1.BN . 2BN 3.6N
1BN 2.WH ! X
R 2.WH 3.6N 4.YE
T 3.BU 3.BU
Wiring list 3.BU 4.YE 5.6Y
4.BK 4.BK
4.BK 6.PK 6.PK
el 7.8U 7.8U
8.RD
R T8s iT8s T8RS iT8s T8s
Description Order NO . Order NO . Order NO . Order NO . Order NO .
PGY 0.5m SD-M12A-03P-FF-SHBA50-00AH SD-M12A-04P-FF-SHBA50-00AH SD-M12A-05P-FF-SHBA50-00AH SD-M12A-06P-FF-SHBA50-00AH SD-M12A-08P-FF-SHBA50-00AH
EHIH Customized e e e
M161.5 0.5m SD-M12A-03P-FF-SHB8B50-00AH SD-M12A-04P-FF-SHB8B50-00AH SD-M12A-05P-FF-SH8B50-00AH SD-M12A-06P-FF-SHB8B50-00AH SD-M12A-08P-FF-SHB8B50-00AH
) EHL Customized S e s

88 www.degson.com

ﬁ DEGSON

M1 2 Series

M12 x 1 FLNER L IIEEE |, IRAIRE |,

w0.5mS4k,

M12 x 1 Female Panel Mount Receptacle,
Front Mounting, With 0.5m wires.

SALT SPRAY

Standard

g3

Series
Pintt#&
Number of Pins
HERIR
Rated Current
HMERE
Rated voltage
“BUREEIE

Insulation resistance
e e

Contact resistance
ETRE

Ambient temperature
BriPER

IP Class

g

Number of Pins

Al

EARERE Technical Data

IEC 61076

M12, Female

03,04,05,06,08,10,12 Pin

4A max.

250V max.

=100MQ

<5mQ

—25~ +80C

IP68

i F AR

Contact carriers material
HFIR

Contact material
SMIRE

Metal of nut

Seal

R

Shielding
WA
Mechanical life

20.0 L(mm)

M12*1.0
M16*1.5/PG9 /

PA

Copper Alloy, Gold-plated
Zinc Alloy with Nickel Plated
Silicone

Unshielded

> 100 mating cycles

s A-Coded A-Coded B-Coded D-Coded
Coded
Gl .
Codin 4
9 EEE o O
Front View o O
21
EEFRIR A 15A 1.5A 4A aa
Rated current
R HEBE V. 30V 30V 60V 250V
ated voltage
. LAl 26AWG 26AWG 22AWG 22AWG
Wire gauge
ﬁgﬁ. 0.14mm?2 0.14mm? 0.34mm? 0.34mm2
Cross section
1.BN
1.BN 2.BU
2.BU 3.WH
FIZ/ERAS 3.WH 4.GN 1BN
Wire/Cable 4.GN 5.PK : 1.BN
: . 2.WH
bisi5 3 5.PK 6.YW SE 2.WH
Wiring list B6.YW 7.BK . 3.BU
7.BK 8.GY QL 4BK
8.GY 9.RD S:GY
9.RD 10.VvT
10.VvT 11.GY/PK
12.RD/BU
i 1TE8S TS 1TSS TS
Description Order NO . Order NO . Order NO . Order NO .
PGY 0.5m SD-M12A-10P-FF-SHBA50-00AH SD-M12A-12P-FF-SHBA50-00AH SD-M12B-05P-FF-SHBA50-00AH SD-M12D-04P-FF-SH8A50-00AH
AL Customized e e
M16".5 0.5m SD-M12A-10P-FF-SHB8B50-00AH SD-M12A-12P-FF-SH8B50-00AH SD-M12B-05P-FF-SH8B50-00AH SD-M12D-04P-FF-SH8B50-00AH
) EHIL Customized R R

www.degson.com 8 9



ﬁ DEGSON

M1 2 Series

M12 x 1 SUEREZIRIEE |, IRERE

w0.5m54k,

M12 x 1 Male Panel Mount Receptacle,

Rear Mounting,With 0.5m wires.

EARERE Technical Data

v

23.0 L(mm)

Standard GG Contact carriers material PA
#5 BFE y
Series M12, Male oA Copper Alloy, Gold-plated
Pingt#g i i SEEE ; N
Number of Pins 03,04 Pin Metal of nut Zinc Alloy with Nickel Plated
HERBTR BRE -
Rated Current AR mErs Seal Silicone
MEBE R ;
Rated voltage CEIDY RS Shielding Unshielded
“EREEIE > WA > i
Insulation resistance =100MQ Mechanical life 100 mating cycles
| —smo _ _
Contact resistance
ETIRE P c
Ambient temperature 25~ T - -
BriPER — —
IP Class I
*
B8 04 Pin
Number of Pins
B S-Coded T-Coded S-Coded T-Coded
Coded
Eai)
Codin,
¢ il
Front View
e A 12A 12A 12A 12A
Rated current
R BUEFE V. 630V 63V 630V 63V
ated voltage
X &l 16AWG 16AWG 16AWG 16AWG
Wire gauge
'iEZE. 1.5mm? 1.6mm? 1.5mm? 1.6mm?
Cross section
ERL/EB Y
Wire/Cable 1.BK1 1.BN
. 1.BK1 1.BN e AL
i 3.BK3 3BU ’ )
Wiring list 3.BK3 3.BU
4.YE/GN 4.BK
4.YE/GN 4.BK
fiEg iT8s T8RS 1T8s iT8s
Description Order NO . Order NO . Order NO . Order NO .
PGY 0.5m SD-M12S-03P-MM-SF8A50-00AH SD-M12T-03P-MM-SF8A50-00AH SD-M128-04P-MM-SF8A50-00AH SD-M12T-04P-MM-SF8A50-00AH
EHIH Customized s R
M161.5 0.5m SD-M12S-03P-MM-SF8B50-00AH SD-M12T-03P-MM-SF8B50-00AH SD-M12S-04P-MM-SF8B50-00AH SD-M12T-04P-MM-SF8B50-00AH
) EFI Customized e s e e

90 www.degson.com

ﬁ DEGSON

M1 2 Series

M12 x 1 SHUER S ARIEEE |, IRATREE

w0.5mSL,

M12 x 1 Male Panel Mount Receptacle,

Front Mounting,With 0.5m wires.

f m
=

= i

BEAREIE Technical Data

M16*1.5/PG9

e BT
Standard EeEE Contact carriers material PA
£ IFE »
Series M12, Male A Copper Alloy, Gold-plated
Pinft# ; SRIE h .
N G S 03,04 Pin Metal of nut Zinc Alloy with Nickel Plated
L e -
Rated Current e meee Seal Silicone
MEBE Bk .
Rated voltage CEIDY ieEs Shielding Unshielded
HBEERIE > S 5 i
Insulation resistance =l Mechanical life 100 mating cycles
| _ _ _
Contact resistance S
BITRE —25 ~ K
Ambient temperature 25~ +80C - -
PEIRER — —
IP Class s
FE ; 04 Pin
Number of Pins
s S-Coded T-Coded S-Coded T-Coded
Coded
izl
Codin
¢ EEE
Front View
BRI A 12A 12A 12A 12A
Rated current
N MEBE V. 630V 63V 630V 63V
ated voltage
. i 16AWG 16AWG 16AWG 16AWG
Wire gauge
HEE . 1.6mm? 1.5mm? 1.6mm? 1.5mm?
Cross section
ERLR/ERY
Wire/Cable 1.BK1 1.BN
. 1.BK1 1.BN T —
s 3.BK3 38U ; )
Wiring list 3.BK3 3.BU
4.YEIGN 4.BK
4.YE/GN 4.BK
i T8RS 1T8s iT8s J8s
Description Order NO . Order NO . Order NO . Order NO .
PGY 0.5m SD-M12S-03P-MM-SH8A50-00AH SD-M12T-03P-MM-SHBA50-00AH SD-M12S-04P-MM-SH8A50-00AH SD-M12T-04P-MM-SH8A50-00AH
E Customized | e - - ==
M16*1.5 0.5m SD-M12S-03P-MM-SH8B50-00AH SD-M12T-03P-MM-SH8B50-00AH SD-M12S-04P-MM-SH8B50-00AH SD-M12T-04P-MM-SH8B50-00AH
) E4t Customized | e -_—

www.degson.com 9 1




ﬁ DEGSON

M1 2 Series

M12 x 1 FLNEREEEE |, RERE

w0.5mSL,

M12 x 1 Female Panel Mount Receptacle,

Rear Mounting, With 0.5m wires.

A

BEAREIE Technical Data

20.0 L(mm)

\ % |
N

e BT
Standard GG Contact carriers material PA
£ IFE H
Series M12, Female e A Copper Alloy, Gold-plated
PingtEg it ; SRIRE i N
Number of Pins 03,04 Pin Metal of nut Zinc Alloy with Nickel Plated
L o -
Rated Current AR mErs Seal Silicone
HERE R .
Rated voltage CEIDY RS Shielding Unshielded
p:cie CENE > S i
Insulation resistance = Mechanical life >100 mating cycles
FfRER PR < — —
Contact resistance @
BTIRE —25 ~ ”
Ambient temperature 25~ T - -
PHIRER — —
IP Class I
*
B8 04 Pin
Number of Pins
B S-Coded T-Coded S-Coded T-Coded
Coded
o O @) O
Coding P 1 ) 3
EEE
Front View @Q@
(@)
e A 12A 12A 12A 12A
Rated current
R BUEFE V. 630V 63V 630V 63V
ated voltage
X &l 16AWG 16AWG 16AWG 16AWG
Wire gauge
'iEZE. 1.5mm? 1.6mm? 1.5mm? 1.6mm?
Cross section
ERL/EB Y
Wire/Cable 1.BK1 1.BN
. 1.BK1 1.BN A AL
e 3.BK3 3.BU ; )
Wiring list 3.BK3 3.BU
4.YE/GN 4.BK
4.YE/GN 4.BK
fiEg iT8s T8RS 1T8s iT8s
Description Order NO . Order NO . Order NO . Order NO .
PGY 0.5m SD-M128-03P-FF-SF8A50-00AH SD-M12T-03P-FF-SF8A50-00AH SD-M12S-04P-FF-SF8A50-00AH SD-M12T-04P-FF-SF8A50-00AH
EHIH Customized R e e
M161.5 0.5m SD-M128-03P-FF-SF8B50-00AH SD-M12T-03P-FF-SF8B50-00AH SD-M12S-04P-FF-SF8B50-00AH SD-M12T-04P-FF-SF8B50-00AH
) EFI Customized R T N I

91 www.degson.com

ﬁ DEGSON

M1 2 Series

= v Hiized 20.0 L(mm)
M12 x 1 FLUER L IIEEE |, IRAIRE | |
F== ==
I
M12 x 1 Female Panel Mount Receptacle, —
Front Mounting, With 0.5m wires.
M12*1.0,
M16*1.5/PG9
BiAR#E Technical Data
T IHFEARAR
Standard g Contact carriers material PA
3] iEFE H
Series M12, Female e Copper Alloy, Gold-plated
Pinfti i SRIZE i -
Number of Pins 03,04 Pin Metal of nut Zinc Alloy with Nickel Plated
MEERT RE -
Rated Current 2mere Seal Silicone
MERE R .
Rated voltage 630Mma.c Shielding Unshielded
%R IE NS i
Insulation resistance =100MQ Mechanical life > 100 mating cycles
e e — —
Contact resistance S
ETRE o .
Ambient temperature 29~ #0E - -
BriPER — —
IP Class 17e
G . 03 Pin 04 Pin
Number of Pins
s S-Coded T-Coded S-Coded T-Coded
Coded
o O O O
Coding P 4 ) Z
IEEE
Front View @p@
(@)
BRI A 12A 12A 12A 12A
Rated current
R HEBE V. 630V 63V 630V 63V
ated voltage
. i 16AWG 16AWG 16AWG 16AWG
Wire gauge
HEE . 1.6mm? 1.5mm? 1.6mm? 1.5mm?
Cross section
ERLR/ERY
Wire/Cable 1.BK1 1.BN
N 1.BK1 1.BN AT A
s 3.BK3 38U ) )
Wiring list 3.BK3 3.BU
4.YEIGN 4.BK
4.YE/GN 4.BK
Fiiiju T8RS 1T8s iT8s J8s
Description Order NO . Order NO . Order NO . Order NO .
PGY 0.5m SD-M12S-03P-FF-SHBA50-00AH SD-M12T-03P-FF-SHBA50-00AH SD-M12S-04P-FF-SH8A50-00AH SD-M12T-04P-FF-SHBA50-00AH
EHIL Customized | e R T
M16*1.5 0.5m SD-M12S-03P-FF-SH8B50-00AH SD-M12T-03P-FF-SH8B50-00AH SD-M12S-04P-FF-SH8B50-00AH SD-M12T-04P-FF-SH8B50-00AH
) E4t Customized | e R e

www.degson.com 9 3



ﬁ DEGSON

M1 2 Series

M12 x 1 SHUERERIEEE | IREREE

e , PCBIREE,

M12 x 1 Male Panel Mount Receptacle,
Rear Mounting,Unshielded,PCB Soldering.

<Al

EAREIE Technical Data

)

M12*1.0

TR I FERTR
Standard ISGHE Contact carriers material PA
EY]) R H
Series M12, Male e | Copper Alloy, Gold-plated
Pinft# . SmIRE 0 -
Number of Pins 03,04,05,06,08,10,12 Pin Metal of nut Zinc Alloy with Nickel Plated
R R il
Rated Current o Seal Silicone
WEEBE S ;
Rated voltage 250V max. Mechanical life ggl00matinglcycles
%iﬁ%ﬂﬁ . =100MQ — —
Insulation resistance
FftEafE — —
Contact resistance e
BTIRE —40 ~ g
Ambient temperature 4= SrilEe - -
B E L%
IP Class e - -
G . 03 Pin 04 Pin 05 Pin 06 Pin 08 Pin
Number of Pins
s A-Coded A-Coded A-Coded A-Coded A-Coded
Coded
5
Cﬁﬁi?]g 4 3 4 3 4 3 6 "
IEHE
Front View
1 1 2 1 2 7 3
= = 1"
EERIR A A 4A 4A 2A 2A
Rated current
R e V. 250V 250V 60V 30V 30V
ated voltage
R T8RS T8RS L PSS T8RS
Description Order NO . Order NO . Order NO . Order NO . Order NO .
PG9 SP-M12A-03P-MM-SF8001-00AH SP-M12A-04P-MM-SF8001-00AH SP-M12A-05P-MM-SF8001-00AH SP-M12A-06P-MM-SF8001-00AH SP-M12A-08P-MM-SF8001-00AH
=8I Customized | e | e —
M16*1.5 SP-M12A-03P-MM-SF8002-00AH SP-M12A-04P-MM-SF8002-00AH SP-M12A-05P-MM-SF8002-00AH SP-M12A-06P-MM-SF8002-00AH SP-M12A-08P-MM-SF8002-00AH
EHIME Customized | e L
R<JE DimensionFigure
13.619"
-} 45°
%ﬁ\
< o
! al o
,g S| o
PG9
5.0 0D1:15.4+0.1
M16*1.5
0OD2:%16.14+0.1
!
PCB PCB Hfp PCB PCB PCB RERYT
PCB Layout PCB Layout PCB Layout PCB Layout PCB Layout Panel Cut-Out

94 www.degson.com

ﬁ DEGSON

M1 2 Series

M12 x 1 ST EIRZEERE |, IRETEE |
JEFik , PCBIEHzE,

M12 x 1 Male Panel Mount Receptacle,
Rear Mounting,Unshielded,PCB Soldering.

M12*1.0

23.0 6.0

|
—
—
>

“ m
RnHS)
SALT SPRAY

EARERE Technical Data

)

L3 IHF AR
Standard g Contact carriers material PA
g3 iEFE H
Series M12, Male e Copper Alloy, Gold-plated
Pingt#g 8 ; SRIZE ; ith Ni
Number of Pins 03,04,05,06,08,10,12 Pin Metal of nut Zinc Alloy with Nickel Plated
MEERT RE -
Rated Current ATERS Seal Silicone
HMERE WUt i
Rated voltage 250V max. e T > 100 mating cycles
L =100MQ — —
Insulation resistance
e e _ —
Contact resistance S
ETRE )~ c
Ambient temperature A0~ DT - -
BriPER
IP Class 17e - -
G . 10 Pin 12 Pin 05 Pin 04 Pin
Number of Pins
s A-Coded A-Coded B-Coded D-Coded
Coded
Cﬁﬁg 7 N 9 N 4 N
IEEE 8 4
Front View 9
1 2
1 2 N "2
EEFRIR A
Rated current ) TR hd R 22
R HEBE V. 30V 30V 60V 250V
ated voltage
R P L DL P
Description Order NO . Order NO . Order NO . Order NO .
PG9 SP-M12A-10P-MM-SF8001-00AH SP-M12A-12P-MM-SF8001-00AH SP-M12B-05P-MM-SF8001-00AH SP-M12D-04P-MM-SF8001-00AH
%1t Customized -— e —_—_e—_
M16*1.5 SP-M12A-10P-MM-SF8002-00AH SP-M12A-12P-MM-SF8002-00AH SP-M12B-05P-MM-SF8002-00AH SP-M12D-04P-MM-SF8002-00AH
=4, Customized _— e —_—_e—_T
RJE DimensionFigure
295 13.670"
3 ‘ 12-0.8
&
?,’\.
LY
-
| é '3, al 8
. o| 0
i 2 _| @
ASY 0OD1:915.4 +0.
#58 #5.8 $5.0 M16+1.5
0OD2:$16.1+0.1
73
PCB PCB PCB Hfh PCB Hfn RERYT
PCB Layout PCB Layout PCB Layout PCB Layout Panel Cut-Out

www.degson.com 9 5




ﬁ DEGSON

M1 2 Series

M12 x 1 ST EIRZEEERE |, IREIR
IEF#K , PCBIRHE.

&

%,

M12 x 1 Male Panel Mount Receptacle,
Front Mounting,Unshielded,PCB Soldering.

¥ ARZE Technical Data

Li:3 U FEAA R
Standard ISGHE Contact carriers material PA
=41 WEHE .
Series M12, Male e Copper Alloy, Gold-plated
PingtEE ; SRIEE ’ -
Number of Pins 03,04,05,06,08,10,12 Pin Metal of nut Zinc Alloy with Nickel Plated
R KE "
Rated Current o Seal Silicone
MEBE MUt ;
Rated voltage 250V max. Mechanical life ggl00matinglcycles
L >100MQ — —
Insulation resistance
fegitGeliz) — —
Contact resistance e
ETIRE e 5
Ambient temperature 4= SrilEe - -
BEIRER
IP Class e - -
5128 . . . . .
. 03 Pin 04 Pin 05 Pin 06 Pin 08 Pin
Number of Pins
B A-Coded A-Coded A-Coded A-Coded A-Coded
Coded
5
Cﬁﬁiig 4 3 4 3 6, 4
EmEE
Front View
1 N2 7 3
172
EEFRTR A 4A 4A aA 2A 2A
Rated current
R BUErE V. 250V 250V 60V 30V 30V
ated voltage
Fi:% PIESS DL DL T8RS PESS
Description Order NO . Order NO . Order NO . Order NO . Order NO .
PG9 SP-M12A-03P-MM-SH8001-00AH SP-M12A-04P-MM-SH8001-00AH SP-M12A-05P-MM-SH8001-00AH SP-M12A-06P-MM-SH8001-00AH SP-M12A-08P-MM-SH8001-00AH
EHIH Customized — —
M16*1.5 SP-M12A-03P-MM-SH8002-00AH SP-M12A-04P-MM-SH8002-00AH SP-M12A-05P-MM-SH8002-00AH SP-M12A-06P-MM-SH8002-00AH SP-M12A-08P-MM-SH8002-00AH
EHME Customized B
R~E DimensionFigure
13.619"
-} 45°
%ﬁ\
o o
/ al g
,g o| o
PG9
5.0 OD1:15.4+0.1
M16*1.5
0OD2:%16.14+0.1
2o
PCB PCB HEf PCB HEfm PCB HEfs PCB HEf TERY
PCB Layout PCB Layout PCB Layout PCB Layout PCB Layout Panel Cut-Out

96 www.degson.com

ﬁ DEGSON

M1 2 Series

M12 x 1 SUEREIRIEEE |, IRAIREE

IFFFil . PCBI#x.

M12 x 1 Male Panel Mount Receptacle,
Front Mounting,Unshielded,PCB Soldering.

¥ ARZE Technical Data

5]

M12*1.0

M16*1.5/PG9

e SRR
Standard 1SS Contact carriers material PA
ES ) i F AR "
Series M12, Male o ] Copper Alloy, Gold-plated
Pingt# 2 ; SBIEE ‘ o
Number of Pins 03,04,05,06,08,10,12 Pin Metal of nut Zinc Alloy with Nickel Plated
EERT KE "
Rated Current R Seal Silicone
EERBE S ;
Rated voltage 250V max. Mechanical life 00z atinglcycles
BREWBIE >100MQ = =
Insulation resistance
EhdeapE _ _
Contact resistance e
ETIRE P c
Ambient temperature 40 = Sl - -
BriPER
IP Class I7E - -
G . 10 Pin 12 Pin 05 Pin 04 Pin
Number of Pins
4B A-Coded A-Coded B-Coded D-Coded
Coded
6
Cﬁﬁg 7, J 4, 3 4 3
IEEE 8 4
Front View 9
1 2
1 2 N "2
EEFRIR A
Rated current g 1.5A 1.5A 4A a8
R HEBE V. 30V 30V 60V 250V
ated voltage
R P L DL P
Description Order NO . Order NO . Order NO . Order NO .
PG9 SP-M12A-10P-MM-SH8001-00AH SP-M12A-12P-MM-SH8001-00AH SP-M12B-05P-MM-SH8001-00AH SP-M12D-04P-MM-SH8001-00AH
4%, Customized -— e —_—_e—_
M16*1.5 SP-M12A-10P-MM-SH8002-00AH SP-M12A-12P-MM-SH8002-00AH SP-M12B-05P-MM-SH8002-00AH SP-M12D-04P-MM-SH8002-00AH
=#I4L, Customized _— e —_—_e—_T
RJE DimensionFigure
29.5 13.675"
S ‘ 12-0.8
&
?,)\.
LY
-
a g i S, al a
. o| 0
. o /
S 0OD1:915.4 +0.
#58 #5.8 $5.0 M16+1.5
0OD2:$16.1+0.1
=p
PCB PCB PCB Hfh PCB Hfn RERYT
PCB Layout PCB Layout PCB Layout PCB Layout Panel Cut-Out

www.degson.com 9 7



ﬁ DEGSON

M1 2 Series

M12 x 1 FLNEREREE |, RERE

IFFFilg . PCBIg#x.

M12 x 1 Female Panel Mount Receptacle,
RearMounting,Unshielded,PCB Soldering.

o fe

SALTSPRAY

¥ ARZE Technical Data

3

20.0

M12%1.0

M16*1.5/PG9

e ShF AR
Standard ISGHE Contact carriers material PA
=5 TR )
Series M12, Female e Copper Alloy, Gold-plated
Pinft ; SRIRE i -
Number of Pins 03,04,05,06,08,10,12 Pin Metal of nut Zinc Alloy with Nickel Plated
R RE .
Rated Current o Seal Silicone
MEBE MUt ;
Rated voltage 250V max. Mechanical life ggl00matinglcycles
?BQ%EE_IKH . =100MQ — —
Insulation resistance
fegitGeliz) <5mo _ _
Contact resistance
ETIRE G~ .
Ambient temperature 4= SrilEe - -
BEIRER
IP Class e - -
5128 . . . . .
. 03 Pin 04 Pin 05 Pin 06 Pin 08 Pin
Number of Pins
B A-Coded A-Coded A-Coded A-Coded A-Coded
Coded
W13
. 3 4 3 4 4/0 o\6
Codin,
o fied © 0o
Front View o0 30 o)7
1 2 1 o9
2 1
REET A 4A 4A 4A 2A 2A
Rated current
R BUErE V. 250V 250V 60V 30V 30V
ated voltage
Fi:% e PIESS PIEES PIESS e
Description Order NO . Order NO . Order NO . Order NO . Order NO .
PG9 SP-M12A-03P-FF-SF8001-00AH SP-M12A-04P-FF-SF8001-00AH SP-M12A-05P-FF-SF8001-00AH SP-M12A-06P-FF-SF8001-00AH SP-M12A-08P-FF-SF8001-00AH
E4l{t Customized | e —
M16*1.5 SP-M12A-03P-FF-SF8002-00AH SP-M12A-04P-FF-SF8002-00AH SP-M12A-05P-FF-SF8002-00AH SP-M12A-06P-FF-SF8002-00AH SP-M12A-08P-FF-SF8002-00AH

EHML Customized | e B S PP

R<JE Dimension Figure

13.619"
58
PG9
0D1:615.4+0.1
M16*1.5
0OD2:%16.14+0.1
PCB PCB Hfp PCB PCB PCB RERYT
PCB Layout PCB Layout PCB Layout PCB Layout PCB Layout Panel Cut-Out

98 www.degson.com

ﬁ DEGSON® M1 2 Series

20.0 6.0

M12 x 1 FLZUER LRI |, IRERE
IFFFil . PCBI#x.

M12 x 1 Female Panel Mount Receptacle,
RearMounting,Unshielded,PCB Soldering.

M12%1.0

W)

M16*1.5/PG9

SALT SPRAY

o fe

=05 ]

¥ ARZE Technical Data

e SRR
Standard 1SS Contact carriers material PA
ES ) i F AR "
Series M12, Female o ] Copper Alloy, Gold-plated
Pingt# 2 ; SBIEE ‘ o
Number of Pins 03,04,05,06,08,10,12 Pin Metal of nut Zinc Alloy with Nickel Plated
EERT KE "
Rated Current R Seal Silicone
HUEFRE S ;
Rated voltage 250V max. Mechanical life 00z atinglcycles
QE%%.BH . =100MQ — —
Insulation resistance
EhdeapE _ _
Contact resistance e
ETIRE —40 ~ g
Ambient temperature 40 = Sl - -
BriPER
IP Class I7E - -
G . 10 Pin 12 Pin 05 Pin 04 Pin
Number of Pins
s A-Coded A-Coded B-Coded D-Coded
Coded
4R 4
Codin 4
9 EEE o O
Front View o O
21
EEFRR A
Rated current ) TR hd R 8
R HEBE V. 30V 30V 60V 250V
ated voltage
R P L DL P
Description Order NO . Order NO . Order NO . Order NO .
PG9 SP-M12A-10P-FF-SF8001-00AH SP-M12A-12P-FF-SF8001-00AH SP-M12B-05P-FF-SF8001-00AH SP-M12D-04P-FF-SF8001-00AH
%1t Customized -— e —_—_e—_
M16*1.5 SP-M12A-10P-FF-SF8002-00AH SP-M12A-12P-FF-SF8002-00AH SP-M12B-05P-FF-SF8002-00AH SP-M12D-04P-FF-SF8002-00AH
=4, Customized _— e —_—_e—_T
RJE DimensionFigure
29.5 13.619"
S ‘ 12-0.8
&
?,’\.
LY
-
a S, al a
. o| 0
. . o /
ASY 0OD1:915.4 +0.
#58 #5.8 $5.0 M16+1.5
0OD2:$16.1+0.1
=p
PCB PCB PCB Hfh PCB Hfn RERYT
PCB Layout PCB Layout PCB Layout PCB Layout Panel Cut-Out

www.degson.com 99




ﬁ DEGSON

M1 2 Series

M12 x 1 FLNEREIRIEE | IREIRER |
IFFFilg . PCBIg#x.

M12 x 1 Female Panel Mount Receptacle,
Front Mounting,Unshielded,PCB Soldering.

o fe

SALTSPRAY

¥ ARZE Technical Data

20.0 6.0

M12*1.0

oo

M16*1.5/PG9 /

e ShF AR
Standard ISGHE Contact carriers material PA
=5 TR )
Series M12, Female e Copper Alloy, Gold-plated
Pinft ; SRIRE i -
Number of Pins 03,04,05,06,08,10,12 Pin Metal of nut Zinc Alloy with Nickel Plated
R RE o
Rated Current o Seal Silicone
MEBE MUt ;
Rated voltage 250V max. Mechanical life ggl00matinglcycles
?BQ%EE_IKH . =100MQ — —
Insulation resistance
fegitGeliz) <5mo _ _
Contact resistance
ETIRE G~ .
Ambient temperature 4= SrilEe - -
BEIRER
IP Class e - -
5128 . . . . .
. 03 Pin 04 Pin 05 Pin 06 Pin 08 Pin
Number of Pins
B A-Coded A-Coded A-Coded A-Coded A-Coded
Coded
W13
. 3 4 3 4 4/0 o\6
Codin,
o fied © 0o
Front View o0 30 o)7
1 2 1 o9
2 1
REET A 4A 4A 4A 2A 2A
Rated current
R BUErE V. 250V 250V 60V 30V 30V
ated voltage
Fi:% e PIESS PIEES PIESS e
Description Order NO . Order NO . Order NO . Order NO . Order NO .
PG9 SP-M12A-03P-FF-SH8001-00AH SP-M12A-04P-FF-SH8001-00AH SP-M12A-05P-FF-SH8001-00AH SP-M12A-06P-FF-SH8001-00AH SP-M12A-08P-FF-SH8001-00AH
E4l{t Customized | e -—
M16*1.5 SP-M12A-03P-FF-SH8002-00AH SP-M12A-04P-FF-SH8002-00AH SP-M12A-05P-FF-SH8002-00AH SP-M12A-06P-FF-SH8002-00AH SP-M12A-08P-FF-SH8002-00AH

TEHME Customized | e

13.619"
58
PG9
0D1:615.4+0.1
M16*1.5
0OD2:%16.14+0.1
PCB PCB Hfp PCB PCB PCB RERYT
PCB Layout PCB Layout PCB Layout PCB Layout PCB Layout Panel Cut-Out

100 www.degson.com

ﬁ DEGSON® M1 2 Series

M12 x 1 FLREIREIERE , WAL, 1
IFfFitk , PCBIR#.

M12 x 1 Female Panel Mount Receptacle, S E
Front Mounting,Unshielded,PCB Soldering. = ——

M16*1.5/PG9 /
|48
: [ swursema |

SALT SPRAY

=05 ]

¥ ARZE Technical Data

i HFHE

Standard 1SS Contact carriers material PA

ES ) i F AR H
Series M12, Female o ] Copper Alloy, Gold-plated
Pingt# ; SRIRE h .
Number of Pins 03,04,05,06,08,10,12 Pin Metal of nut Zinc Alloy with Nickel Plated
ERR KE o

Rated Current R Seal Silicone

i B .

Rated voltage 250V max. Mechanical life 00z atinglcycles
QE%%-BH : =100MQ —_ —

Insulation resistance

EhdeapE e o -

Contact resistance

ETIRE a0 ;

Ambient temperature 40 ~ +105¢C - —

BriPER

IP Class IR6S = —

g

. 10 Pin 12 Pin 05 Pin 04 Pin
Number of Pins
i A-Coded A-Coded B-Coded D-Coded
Coded
i .
Coding FEE “O O
Front View o O
2 ="
BRI
R A 15A 1.5A 4A 4A
MERE
Rated voltage V. 30V 30V 60V 250V
Fi:nu TS TS T8s TS
Description Order NO . Order NO . Order NO . Order NO .
PGY SP-M12A-10P-FF-SH8001-00AH SP-M12A-12P-FF-SH8001-00AH SP-M12B-05P-FF-SH8001-00AH SP-M12D-04P-FF-SHB001-00AH
=#I1 Customized — T T e =
M16*1.5 SP-M12A-10P-FF-SH8002-00AH SP-M12A-12P-FF-SH8002-00AH SP-M12B-05P-FF-SH8002-00AH SP-M12D-04P-FF-SHB002-00AH
=50 Customized — T T e T =
RJE DimensionFigure
9. 13.670"
3 z 12-0.8
&
a5
L)
-
_ \: al 8
- ° O| O
7 — J
. : o
N o~ ~
S S PGY
OD1:415.4+0.1
?5.8 ?5.8 ?5.0 M16+1.5
0D2:$16.1+0.1
.
PCB HEf PCB HEfs PCB s PCB s RERY
PCB Layout PCB Layout PCB Layout PCB Layout Panel Cut-Out

www.degson.com 1 01




ﬁ DEGSON

M1 2 Series

M12 x 1 FLZUER LRI |, IRERE
FFifk . PCBIREZ,

M12 x 1 Female Panel Mount Receptacle,
Rear Mounting,Shielded,PCB Soldering.

@ CATS
o]

EAREE Technical Data

213.4
-

I [TI0IT

PG9

Standard ISGHE Contact carriers material PA
25 WFHE .
Series M12, Male e Copper Alloy, Gold-plated
Pingt#g i ; SEEE ) -
Number of Pins 08 Pin Metal of nut Zinc Alloy with Nickel Plated
EERT BRE »
Rated Current DEAmers Seal Silicone
S NHES .
Rated voltage S0VAC/BOVDE Mechanical life ggl00matinglcycles
e >100MQ — —
Insulation resistance
#Efeea e = _ o
Contact resistance e
ETIRE o ;
Ambient temperature 20 ~ +105¢C - —
BriPER
IP Class IR67 — —
ke i 08 Pin
Number of Pins
gt
X-
Coded Coded
4R
Codin
? EEE
Front View
EEFRT A
Rated current . 0.5A
R b V. 50V AC/60V DC
ated voltage
R iT8s
Description Order NO .
PG9 SPSH-M12X-08P-FF-SF7001-00AH
FHML Customized | e
M16*1.5 SPSH-M12X-08P-FF-SF7002-00AH
EHL Customized
R<JE Dimension Figure
13.675"
10.0
5.6
28
-p1.0
(L ! ; /w ‘ = o
ol o
s &1 ‘ o| o
N L6 @
R
o e
3 olo——
3*1.2 00
ﬁé‘/ PGY M16*1.5
OD1:9$15.4+0.1 0D2:¢16.1+0.1

1 02 www.degson.com

PCB HEfn
PCB Layout

TERY
Panel Cut-Out

ﬁ DEGSON

M1 2 Series

M12 x 1 fLEIR IR | RE%RE
R , PCBIE#E,

M12 x 1 Female Panel Mount Receptacle,
Rear Mounting,Shielded,PCB Soldering.

B2 [ =
=

BEAREIE Technical Data

19.2

w
N

14.0

joiotr_ |

B

T I FEARTR
Standard EeEE Contact carriers material PA
£ IFE H
Series M12, Female A Copper Alloy, Gold-plated
Pinft# ; SRIE 2 -
Number of Pins 08 Pin Metal of nut Zinc Alloy with Nickel Plated
R B .
Rated Current e Seal Silicone
EBE S ;
Rated voltage S0VAC/60VDC Mechanical life glolimatingieycles
BERE =100M 0 = —
Insulation resistance
AR R _ _
Contact resistance S
BITRE —20 ~ ~
Ambient temperature 20~ +105C - -
PR
IP Class 17 - —
% H
= 08 Pin
Number of Pins
Eoit]
X-
Coded Coded
RIS
Codi
oding TEE
Front View
EEARTR A
Rated current . oos
BUEFE V. 50VAC/60VDC
Rated voltage
R T8RS
Description Order NO .
M12*1.0 SPSH-M12X-08P-FF-SF7003-00AH
ZHIME Customized | e
RJE DimensionFigure
10.0 11.50+0.10
5.6
2.8
1.0
J} ||| |enro o
2] ¢ T
|6 of g + &
y 7’2 7%7WN 10| ~
o O 4 ‘ g O s
3 olo——1t
é 31280
l
PCB HEf RERYT
PCB Layout Panel Cut-Out

www.degson.com 1 O 3



ﬁ DEGSO”® M1 2 Series ﬁ DEGSON® M1 2 Series

25.7 25.7

M12 x 1 S EREZIRIEE |, IRERE
IEFR BT .

M12 x 1 SHUERERIEEE | IREREE
R BN,

M12 x 1 Male Panel Mount Receptacle,
Rear Mounting,Unshielded,Soldering
without wire.

M12 x 1 Male Panel Mount Receptacle,
Rear Mounting,Unshielded,Soldering

|
4 W] without wire.

.,
M12*1.0
3
M12*1.0

M16*1.5/PG9

M16*1.5/PG9

<Al

EAREIE Technical Data

EARERE Technical Data

TR

I FERTR L3 i F AR
Standard ISGHE Contact carriers material PA Standard g Contact carriers material PA
£l R ” g iEFE H
Series M12, Male e | Copper Alloy, Gold-plated Series M12, Male e Copper Alloy, Gold-plated
Pinft# ; SRIRE ! ith Ni Pingt#i ; SRIZE ; ith Ni
Number of Pins 03,04,05,06,08,10,12 Pin MR Zinc Alloy with Nickel Plated Number of Pins 03,04,05,06,08,10,12 Pin e STaT Zinc Alloy with Nickel Plated
R R il MEERT BRE i
Rated Current Laluths Seal Siliezne Rated Current LlULLS Seal Slizeme
WEEBE S ; I E WUt i
Rated voltage 250V max. Mechanical life B I el el Rated voltage DY (IS Mechanical life > 100 mating cycles
%iﬁ%ﬂﬁ . =100MQ — — QE%EE’.BH . =100MQ — —
Insulation resistance Insulation resistance
FftEafE < _ _ AR R < _ _
Contact resistance Sl Contact resistance S
BTIRE G~ - ETIRE i c
Ambient temperature 4= SrilEe - - Ambient temperature A0~ DT - -
BHRER PP
IP Class e - - IP Class 17e - -
G . 03 Pin 04 Pin 05 Pin 06 Pin 08 Pin G . 10 Pin 12 Pin 05 Pin 04 Pin
Number of Pins Number of Pins
s A-Coded A-Coded A-Coded A-Coded A-Coded s A-Coded A-Coded B-Coded D-Coded
Coded Coded
5 6
Cﬁﬁg 4 3 4 3 4 3 6 4 Cﬁﬁg 7 5 4 3 4 3
EEE EEE 8| 4
Front View 7 3 Front View 9
1 1 2 1 2 1 2
~ o AL 3 4 L a2
R A m m 0 24 2A AR A 1.5A 150 A 4A
Rated current Rated current
e V. 250V 250V 60V 30V 30V HEBE V. 30V 30V 60V 250V
Rated voltage Rated voltage
R T8RS T8RS L PSS T8RS R P L DL P
Description Order NO . Order NO . Order NO . Order NO . Order NO . Description Order NO . Order NO . Order NO . Order NO .
PG9 SD-M12A-03P-MM-SF8001-00AH SD-M12A-04P-MM-SF8001-00AH SD-M12A-05P-MM-SF8001-00AH SD-M12A-06P-MM-SF8001-00AH SD-M12A-08P-MM-SF8001-00AH PG9 SD-M12A-10P-MM-SF8001-00AH SD-M12A-12P-MM-SF8001-00AH SD-M12B-05P-MM-SF8001-00AH SD-M12D-04P-MM-SF8001-00AH
EFML Customized | e e R I Customized e e e e
M16*1.5 SD-M12A-03P-MM-SF8002-00AH SD-M12A-04P-MM-SF8002-00AH SD-M12A-05P-MM-SF8002-00AH SD-M12A-06P-MM-SF8002-00AH SD-M12A-08P-MM-SF8002-00AH M16*1.5 SD-M12A-10P-MM-SF8002-00AH SD-M12A-12P-MM-SF8002-00AH SD-M12B-05P-MM-SF8002-00AH SD-M12D-04P-MM-SF8002-00AH
FEHIM Customized | e | e e e 4t Customized -—r —
R<JE DimensionFigure RJE DimensionFigure
13.675" 13.675"
| | | o
ol o ol o
‘ o| o ‘ o| o
PG9 M16*1.5 PG9 M16*1.5
OD1:$15.4+0.1 0D2:%16.14+0.1 OD1:$15.4+0.1 0OD2:16.1+0.1
%k %k
RERT RERYT

Panel Cut-Out Panel Cut-Out

1 04 www.degson.com www.degson.com 1 05



ﬁ DEGSON

M1 2 Series

M12 x 1 $zUEREZIRIEEE |, IRAIRE |
R BT .

M12 x 1 Male Panel Mount Receptacle,
Front Mounting,Unshielded,Soldering

without wire.

RoHS

SALTSPRAY

25.7

M12*1.0

M16*1.5/PG9 /

ﬁ DEGSON

M12 x 1 SUEREIRIEEE |, IRAIREE
R . BN AT L.

M12 x 1 Male Panel Mount Receptacle,

Front Mounting,Unshielded,Soldering

without wire.

RoHS

SALT SPRAY

b4

5]

M1 2 Series
25.7

M12*1.0

s

M16*1.5/PG9 /

BAREE Technical Data BHAREHE Technical Data

e

ShF AR e SRR
Standard ISGHE Contact carriers material PA Standard 1SS Contact carriers material PA
£l i FAAE H £l i F AR »
Series M12, Male e Copper Alloy, Gold-plated Series M12, Male o ] Copper Alloy, Gold-plated
Pingt#E . SRZE ) th NG Pingt#g @ ) SRIZE ) NG
Number of Pins 03,04,05,06,08,10,12 Pin e Zinc Alloy with Nickel Plated Number of Pins 03,04,05,06,08,10,12 Pin el e Zinc Alloy with Nickel Plated
R KE il EERT KE il
Rated Current Laluths Seal Siliezne Rated Current Lialuihe Seal SilizEme
MEBE S ; HERE S ;
Rated voltage 250V max. Mechanical life B I el el Rated voltage DY e Mechanical life >100 mating cycles
2@%@,}5 . =100MQ — — QE%%.BH . =100MQ —
Insulation resistance Insulation resistance
R < _ _ izparafE <s5me =
Contact resistance Contact resistance
ETIRE G~ - ETIRE P c
Ambient temperature 4= SrilEe - - Ambient temperature 40 = Sl -
PrPSaR BEHRER
IP Class e - - IP Class I7E -
5128 . . . . . . . . . .
. 03 Pin 04 Pin 05 Pin 06 Pin 08 Pin Number of Pins 10 Pin 12 Pin 05 Pin 04 Pin
Number of Pins
-Code -Code -Code -Code -Code -Code -Code -Code -Code
s A-Coded A-Coded A-Coded A-Coded A-Coded 4B A-Coded A-Coded B-Coded D-Coded
Coded Coded
5 - 6
cong Ve oV Ve oV % * ¢ coting Veoas Yo o\ Ve oF
EmEE IEEE 8 4
Front View Front View
1 1 2 7 3 ¢ N2 "2
~ 1) 1 2
HERR A m m A 2A 2A HERR A 1.5A 1.5A 4A 4A
Rated current Rated current
R BUErE V. 250V 250V 60V 30V 30V HEBE V. 30V 30V 60V 250V
ated voltage Rated voltage
Fi:% PIESS DL DL T8RS PESS R P L DL P
Description Order NO . Order NO . Order NO . Order NO . Order NO . Description Order NO . Order NO . Order NO . Order NO .
PG9 SD-M12A-03P-MM-SH8001-00AH SD-M12A-04P-MM-SH8001-00AH SD-M12A-05P-MM-SH8001-00AH SD-M12A-06P-MM-SH8001-00AH SD-M12A-08P-MM-SH8001-00AH PG9 SD-M12A-10P-MM-SH8001-00AH SD-M12A-12P-MM-SH8001-00AH SD-M12B-05P-MM-SH8001-00AH SD-M12D-04P-MM-SH8001-00AH
EHI Customized R e I Customized e e e e
M16*1.5 SD-M12A-03P-MM-SH8002-00AH SD-M12A-04P-MM-SH8002-00AH SD-M12A-05P-MM-SH8002-00AH SD-M12A-06P-MM-SH8002-00AH SD-M12A-08P-MM-SH8002-00AH M16*1.5 SD-M12A-10P-MM-SH8002-00AH SD-M12A-12P-MM-SH8002-00AH SD-M12B-05P-MM-SH8002-00AH SD-M12D-04P-MM-SH8002-00AH
EHME Customized B E#l{L Customized e e e e
Dimension Figure R<JE DimensionFigure
13,6 13613
| f 5 | 5
[=] s Ql o
‘ o| © o| ©
PG9 M16*1.5 PG9 M16*1.5
0OD1:$15.4+0.1 0D2:16.1+0.1 0OD1:915.4+0.1 0D2:16.14+0.1

TRRY
Panel Cut-Out

RERY
Panel Cut-Out

1 06 www.degson.com www.degson.com 1 07



ﬁ DEGSON

M1 2 Series

M12 x 1 FLZUER LRI |, IRERE
EFR  IERAT .

M12 x 1 Female Panel Mount Receptacle,
Rear Mounting,Unshielded,Soldering

without wire.

¥ ARZE Technical Data

)

22.7

M12*1.0

M16*1.5/PG9

e ShF AR
Standard ISGHE Contact carriers material PA
=5 TR )
Series M12, Female e Copper Alloy, Gold-plated
Pinft ; SRIRE i -
Number of Pins 03,04,05,06,08,10,12 Pin Metal of nut Zinc Alloy with Nickel Plated
EERTR KE .
Rated Current o Seal Silicone
MEBE MUt ;
Rated voltage 250V max. Mechanical life ggl00matinglcycles
2BE§EE,IIKH . =100MQ — —
Insulation resistance
eI —smo _ _
Contact resistance
ETIRE G~ .
Ambient temperature 4= SrilEe - -
BriPER
IP Class e - -
FTE
Number of Pins
B A-Coded A-Coded A-Coded A-Coded A-Coded
Coded
Eoiz)

N 3 4 3 4 4/0 o\6

Codin,

¢ EEE © 0
Front View o0 30 o)7
1 2 1 =2
2 1
REET A 4A 4A 4A 2A 2A
Rated current
BUErE V. 250V 250V 60V 30v 30v
Rated voltage
Fi:% e PIESS PIEES PIESS e
Description Order NO . Order NO . Order NO . Order NO . Order NO .
PG9 SD-M12A-03P-FF-SF8001-00AH SD-M12A-04P-FF-SF8001-00AH SD-M12A-05P-FF-SF8001-00AH SD-M12A-06P-FF-SF8001-00AH SD-M12A-08P-FF-SF8001-00AH
E4l{t Customized | e — =
M16*1.5 SD-M12A-03P-FF-SF8002-00AH SD-M12A-04P-FF-SF8002-00AH SD-M12A-05P-FF-SF8002-00AH SD-M12A-06P-FF-SF8002-00AH SD-M12A-08P-FF-SF8002-00AH

E#HML Customized | e B S PP

1 08 www.degson.com

Dimension Figure

13.623"
| o 5
Q| O
‘ o| o
PG9 M16*1.5
OD1:¢154+0.1  OD2:416.1+0.1

TERRY
Panel Cut-Out

ﬁ DEGSON

M1 2 Series

M12 x 1 FLZUER LRI |, IRERE
EFR BN,

M12 x 1 Female Panel Mount Receptacle,
Rear Mounting,Unshielded,Soldering

22.7

M12*1.0

without wire.

¥ ARZE Technical Data

)}

M16*1.5/PG9

i TSR
Standard 1SS Contact carriers material PA
ES ) i F AR "
Series M12, Female o ] Copper Alloy, Gold-plated
Pingt# 2 ; SBIEE ‘ o
Number of Pins 03,04,05,06,08,10,12 Pin Metal of nut Zinc Alloy with Nickel Plated
EERT KE o
Rated Current R Seal Silicone
HEBE S i
Rated voltage 250V max. Mechanical life B I el s
%%%BH a =100M Q —_ —
Insulation resistance
sEReIA _ _ .
Contact resistance e
ETIRE —40 ~ g
Ambient temperature (o= arilEEe - -
BriPER
IP Class 17E — =
Number of Pins
4B A-Coded A-Coded B-Coded D-Coded
Coded
izl 3 4 4
Codin 4
9 TEE O ° o O O
Front View 050 o 0
AU~ PASU=d|
SR A 15A 1.5A 4A aa
Rated current
HEFE V. 30V 30V 60V 250V
Rated voltage
R P L DL P
Description Order NO . Order NO . Order NO . Order NO .
PG9 SD-M12A-10P-FF-SF8001-00AH SD-M12A-12P-FF-SF8001-00AH SD-M12B-05P-FF-SF8001-00AH SD-M12D-04P-FF-SF8001-00AH
I Customized -— e —_—_e—_
M16*1.5 SD-M12A-10P-FF-SF8002-00AH SD-M12A-12P-FF-SF8002-00AH SD-M12B-05P-FF-SF8002-00AH SD-M12D-04P-FF-SF8002-00AH
EHIE Customized _— e —_—_e—_T
Dimension Figure
13.670"
| : 5
ol o
‘ ol o
PG9 M16*1.5
OD1:615.4+0.1 0D2:¢16.1+0.1

TRRY
Panel Cut-Out

www.degson.com 1 09



ﬁ DEGSON

M1 2 Series

M12 x 1 FLUER L IRIEEE |, IRAIREE |
EFR  IERAT .

M12 x 1 Female Panel Mount Receptacle,
Front Mounting,Unshielded,Soldering

without wire.

¥ ARZE Technical Data

22.7

M12*1.0

NoseIa

M16*1.5/PG9 /

e ShF AR
Standard IS Contact carriers material PA
=5 TR )
Series M12, Female e Copper Alloy, Gold-plated
Pinft ; SRIRE i -
Number of Pins 03,04,05,06,08,10,12 Pin Metal of nut Zinc Alloy with Nickel Plated
EERTR gz i
Rated Current o Seal Silicone
MEBE MUt ;
Rated voltage 250V max. Mechanical life ggl00matinglcycles
?B%EE_BH . =100MQ — —
Insulation resistance
eI —smo _ _
Contact resistance
ETIRE G~ .
Ambient temperature 4= SrilEe - -
BriPER
IP Class e - -
FTE
Number of Pins
B A-Coded A-Coded A-Coded A-Coded A-Coded
Coded
Eoiz)

. 3 4 3 4 4/0 o\6

Codin,

¢ EEE © 0
Front View o0 30 oJ7
1 2 1 -2
2 1
REET A 4A 4A 4A 2A 2A
Rated current
BUErE V. 250V 250V 60V 30v 30v
Rated voltage
Fi:% e PIESS PIEES PIESS e
Description Order NO . Order NO . Order NO . Order NO . Order NO .
PG9 SD-M12A-03P-FF-SH8001-00AH SD-M12A-04P-FF-SH8001-00AH SD-M12A-05P-FF-SH8001-00AH SD-M12A-06P-FF-SH8001-00AH SD-M12A-08P-FF-SH8001-00AH
E4l{t Customized | e — =
M16*1.5 SD-M12A-03P-FF-SH8002-00AH | SD-M12A-04P-FF-SH8002-00AH | SD-M12A-05P-FF-SH8002-00AH SD-M12A-06P-FF-SH8002-00AH | SD-M12A-08P-FF-SH8002-00AH

E#HML Customized | e c—— L e

RYE

1 1 0 www.degson.com

Dimension Figure

13.673"
| o 5
Q| O
‘ o| 9
PG9 M16*1.5
OD1:¢154+0.1  OD2:16.140.1

TRRY
Panel Cut-Out

ﬁ DEGSON

M1 2 Series

22.7

M12 x 1 FLUER S ARIEEE |, IRAIREE
EFR BN,

M12 x 1 Female Panel Mount Receptacle,
Front Mounting,Unshielded,Soldering

M12*1.0

without wire.

¥ ARZE Technical Data

NoseIa

M16*1.5/PG9

o BRI
Standard 1SS Contact carriers material PA
ES ) i F AR "
Series M12, Female o ] Copper Alloy, Gold-plated
Pinft ¥ ; SRIRE i -
Number of Pins 03,04,05,06,08,10,12 Pin Metal of nut Zinc Alloy with Nickel Plated
EERT KE "
Rated Current R Seal Silicone
HERE S ;
Rated voltage 250V max. Mechanical life 00z atinglcycles
BREWBIE >100MQ - -
Insulation resistance
EhdeapE <5mo _ _
Contact resistance
ETIRE —40 ~ g
Ambient temperature 40 = Sl - -
BriPER
IP Class I7E - -
T . 10 Pin 12 Pin 05 Pin 04 Pin
Number of Pins
s A-Coded A-Coded B-Coded D-Coded
Coded
izl 3 4 4
Codin 4
9 EEE O ° o o O
Front View 050 o O
AU~ 2 =1
ST A 15A 1.5A 4A aa
Rated current
HEBE V. 30V 30V 60V 250V
Rated voltage
R P L DL P
Description Order NO . Order NO . Order NO . Order NO .
PG9 SD-M12A-10P-FF-SH8001-00AH SD-M12A-12P-FF-SH8001-00AH SD-M12B-05P-FF-SH8001-00AH SD-M12D-04P-FF-SH8001-00AH
%1t Customized -— e —_—_e—_
M16*1.5 SD-M12A-10P-FF-SH8002-00AH SD-M12A-12P-FF-SH8002-00AH SD-M12B-05P-FF-SH8002-00AH SD-M12D-04P-FF-SH8002-00AH
=4, Customized _— e —_—_e—_T
Dimension Figure
13.675"
| 5 5
‘ o| ©
PG9 M16*1.5
0OD1:9$15.4+0.1 0D2:$16.1+0.1

RERY
Panel Cut-Out

www.degson.com 1 1 1



ﬁ DEGSON® M1 2 Series ﬁ DEGSON® M12 Series

M12 x 1 Sl EREZIRIEEE |, IRERE
IFFFil . PCBIR#.

M12 x 1 FLNEIRZEEAERE |, IRE%%E | 27.9
JERFH , PCBIEHE.

M12 x 1 Male Panel Mount Receptacle,
Rear Mounting,Unshielded,PCB Soldering.

M12 x 1 Female Panel Mount Receptacle,
RearMounting,Unshielded,PCB Soldering.

M12*1.0

¥)[48.

prei]~ AS

EAREIE Technical Data EAREIE Technical Data
e i FEAA R e IHFE AR
Standard ISGHE Contact carriers material PA Standard S Contact carriers material PA
£l I FAAE H g R H
Series M12, Male oA Copper Alloy, Gold-plated Series M12, Female s ) CopperAlloy, Gold-plated
Pingt#E ; 2RZE ) th NG Pinft¥ . SEIZE . N
Number of Pins 03,04,05,06,08 Pin Metal of nut Zinc Alloy with Nickel Plated Number of Pins 03,04,05,06,08 Pin Metal of nut Zinc Alloy with Nickel Plated
R KRE i R BEE i
Rated é“urrent Laluths Seal Sliezne Rated élurrent SAUEES Seal Sligeie
ERE S ; R E WU & ;
Rated voltage 250V max. Mecha:ipcal life > 100 mating cycles Rated voltage 250V max. Mecha:ir::al o >100 mating cycles
BEBE >100MQ — = e - =100M2 - -
Insulation resistance Insulation resistance
fegitGeliz| _ _ FftER e _ —
Contact resistance e Contact resistance S
= ETRE !
Ambi‘:ﬂ temperature =25 ST - - Ambi::\t temperature =2 T - -
L BrHRER
IP Class ey - - IP Class sl - -
T L
= 04 Pin 05 Pin 08 Pin 04 Pin 05 Pin 08 Pin
Number of Pins Number of Pins
R A-Coded D-Coded A-Coded B-Coded A-Coded 3 A-Coded D-Coded A-Coded B-Coded A-Coded
Coded Coded
) 4 3 5 RS 3 4 5
. 4 3 6, 4 f 3 4 3 4 o 6
Coding FEE Coding EEE O O O O QOQ .
Front View Front View 5 3 o7
N~ 2 N "2 7 3 2 ©° 1 2 SRS) 1 2 1 ¢
155" 2 1
BIEABIR A A A A an 2A AERTR A A A A an 2A
Rated current Rated current
R BUEFE V. 250V 250V 60V 60V 30V HEFaE V. 250V 250V 60V 60V 30V
ated voltage Rated voltage
Fi:%Y PIEES DL DL L PIESS %Y PR T8RS T8RS PIEES PSS
Description Order NO . Order NO . Order NO . Order NO . Order NO . Description Order NO . Order NO . Order NO . Order NO . Order NO .
M12*1.0 SR-M12A-04P-MM-SF7003-00AH SR-M12D-04P-MM-SF7003-00AH SR-M12A-05P-MM-SF7003-00AH SR-M12B-05P-MM-SF7003-00AH SR-M12A-08P-MM-SF7003-00AH M12*1.0 SR-M12A-04P-FF-SF7003-00AH SR-M12D-04P-FF-SF7003-00AH SR-M12A-05P-FF-SF7003-00AH SR-M12B-05P-FF-SF7003-00AH SR-M12A-08P-FF-SF7003-00AH
E#1t Customized — — 2t Customized -—
R<E DimensionFigure RJE DimensionFigure
15 15 15 15
11.50+0.10 11.504+0.10
7.5 75 |5 @ 4504 75 450, 15
< NN < <
0 < - 5 © 5 @
$2.35 2y | o ?2.35 ) ®235 | 5 @ © 3235 | 5 <®X ©
H 99 T 2| e = 1 Ve -4p _
N b = b e
4| 3 4 P {‘\4 5 - S 4] 2 3 41 r': S
] R ~ + & oD N N 8
N ‘ ° S M ° <
g2 P12 "@ o ®28| 1.3 ?2.8 Mm.a ‘f@ 3 o
s C C 545 | s
1.77 1+°'°5 ;01'05 177 ¢:°-°5 177 +0.05
3.54 FR L 3.54 BRIl 3.54 ke 1 EwmPIL
& (k) : i (i) i (73k) 3.54 % (k)
NN s
PCB Hfn PCB Htfn PCB Hfp TERY PCB Hf PCB HEf PCB HEfm RERYT
PCB Layout PCB Layout PCB Layout Panel Cut-Out PCB Layout PCB Layout PCB Layout Panel Cut-Out

1 1 2 www.degson.com www.degson.com 1 1 3



ﬁ DEGSON

M1 2 Series

M12 x 1 T HELERL, EREm ,
1RETIERE , B3k,

54.8(ref.)

. |
M12 x 1 Male Field Assembly Plug, ;
)
. . . o
Unshielded,Screw Connection,Straight. & oesson
i
o [48.] ca e
G W 5
EAREIE Technical Data
e ShF AR
Standard ISGHE Contact carriers material PA
2y IR ]
Series M12, Male oA Copper Alloy, Gold-plated
Pingt# 2 ’ SEEE _ -
Number of Pins 03,04,05,06,08 Pin Metal of nut Zinc Alloy with Nickel Plated
HEERTR KRE -
Rated Current o Seal Silicone
ERE R ;
Rated voltage 250Mmac Shielding Unshielded
ot Gl > S i
Insulation resistance AL Mechanical life > 100 mating cycles
el . _ _
Contact resistance
ETIRE o .
Ambient temperature 257 srillge - -
BEIRER — —
IP Class ey
G . 03 Pin 04 Pin 05 Pin 06 Pin 08 Pin
Number of Pins
Cﬁ:gd A-Coded A-Coded D-Coded A-Coded B-Coded A-Coded A-Coded
ode!
Eoiz)
C::iing 4 3 4 3 9 N y N
EmEE
Front View 7 3
1 N2 N =2 AORCA
PEBR A aA 4A 4A 4A 4A 2A 2A
Rated current
EERRE
Rated voltage V. 250V 250V 250V 60V 60V 30V 30V
Wir?z%u o 22AWG 22AWG 22AWG 22AWG 22AWG 24AWG 24AWG
EBEY o
Wire/Cable T
- . 0.34mm? 0.34mm? 0.34mm? 0.34mm? 0.34mm? 0.25mm? 0.25mm?
Cross section
fidk 1T8S iTES TS 1T8S 1JE8S iTES TS
Description Order NO . Order NO . Order NO . Order NO . Order NO . Order NO . Order NO .
— PB-M12A-03P-MM-SL7001-00AH | PB-M12A-04P-MM-SL7001-00AH | PB-M12D-04P-MM-SL7001-00AH | PB-M12A-05P-MM-SL7001-00AH | PB-M12B-05P-MM-SL7001-00AH | PB-M12A-06P-MM-SL7001-00AH | PB-M12A-08P-MM-SL7001-00AH

EHE

Component part drawing

AN
stetimsk — )

male insert

114 www.degson.com

=HE

seal

pressing screw

ﬁ DEGSON

M 1 2 Series

M12 x 1 AL IIGELERL, ERER
25TiEE | BL.

M12 x 1 Female Field Assembly Plug,
Unshielded,Screw Connection,Straight.

EZ0EAE

BEAREIE Technical Data

51.0(ref.)

©20.0

=
DEGSON

TR I FEARTR
Standard IS Contact carriers material PA
£ IFE H
Series M12, Female s A Copper Alloy, Gold-plated
Pinft# ; SR 2 -
Number of Pins 03,04,05,06,08 Pin Metal of nut Zinc Alloy with Nickel Plated
L e -
Rated Current o Seal Silicone
HERE R )
Rated voltage 250Mmac Shielding Unshielded
HBEERIE > S i
Insulation resistance AL Mechanical life > 100 mating cycles
FEftERfE < — -
Contact resistance S
BITRE —25 ~ g
Ambient temperature 257 il - -
PR _ _
IP Class ey
G . 03 Pin 04 Pin 05 Pin 06 Pin 08 Pin
Number of Pins
Cﬁdﬁgd A-Coded A-Coded D-Coded A-Coded B-Coded A-Coded A-Coded
oae
izl
Coding FEE 3 4 3 o 0 4 50 O 4 4/0 0o\6
Front View 3\0 o)7
1 A0 O/, o O 0 0
21 =
A A 4A 4A 4A 4A 4A 2A 2A
Rated current
HEBE
Rated voltage V. 250V 250V 250V 60V 60V 30V 30V
Wir?ﬂfu e 22AWG 22AWG 22AWG 22AWG 22AWG 24AWG 24AWG
HaLEY S
Wire/Cable HEEE
N . 0.34mm? 0.34mm? 0.34mm? 0.34mm? 0.34mm? 0.25mm? 0.25mm?
Cross section
itk TES 1T8S iTES TS iTES 1J8S iTES
Description Order NO . Order NO . Order NO . Order NO . Order NO . Order NO . Order NO .
— PB-M12A-03P-FF-SL7001-00AH | PB-M12A-04P-FF-SL7001-00AH | PB-M12D-04P-FF-SL7001-00AH | PB-M12A-05P-FF-SL7001-00AH | PB-M12B-05P-FF-SL7001-00AH | PB-M12A-06P-FF-SL7001-00AH | PB-M12A-08P-FF-SL7001-00AH
EF{4¥E Component part drawing
EHE
ERRY

LRk

female insert

pressing screw

www.degson.com 1 1 5



	M5
	圆形M5详细中文目录2019_页面_01
	圆形M5详细中文目录2019_页面_02

	圆形
	页 18
	页 19
	页 20
	页 21
	页 22
	页 23
	页 24
	页 25
	页 26
	页 27
	页 28
	页 29
	页 30
	页 31

	66-67.pdf
	页 7

	78-79.pdf
	页 13

	M12
	圆形M12详细中文2019_页面_01
	圆形M12详细中文2019_页面_02
	圆形M12详细中文2019_页面_03
	圆形M12详细中文2019_页面_04
	圆形M12详细中文2019_页面_05
	圆形M12详细中文2019_页面_06
	圆形M12详细中文2019_页面_08
	圆形M12详细中文2019_页面_09
	圆形M12详细中文2019_页面_10
	圆形M12详细中文2019_页面_11
	圆形M12详细中文2019_页面_12
	圆形M12详细中文2019_页面_14
	圆形M12详细中文2019_页面_15
	圆形M12详细中文2019_页面_16
	圆形M12详细中文2019_页面_17


